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24|111]30] BE |f — — ERE |BHE — 20.30 20.30
24111130 BZE M — — ERET |REH — 24.08 24.08
2411114] BHHE |HhIFbe — — ZirAr  de¥F A — — —
24111119 BHHE AT — — ERET (A — — —
241113 B3 |EKRKIE — — ERE S — — —
24111]12] B=xE [ HhYA — — ERE  |FUWL — — —
24|11 1 B2 [ F940)L—Y — — ERHE  |FHFLWL — — —
24|11 1 B |F947)L—Y — — ERE |XFHE 22.69 31.53 54.22
24111 2 B2 [ F940)1L—Y — — ERET |fET — — —
24111 7 BE | F9A40)L—Y — — ERHE  |fET — 21.57 21.57
24111 7 BE | ®940)L—Y — — EiAT |FEG 28.41 48.36 76.77
24111 8 BE [ F9A40)L—Y — — ERET |REH — 23.39 23.39
241 11] 9 BE | ®947)L—Y — — ERET  kEAF — — —
24111] 9 BE [ F9A40)L—Y — — ERE |HH — 22.87 22.87
2411112 BZE [ F947)L—Y — — ERHE  |FHFL — 33.15 33.15
241 11|13] EB=E |FOA47)L—Y — — ERE 5 — — —
24111]13] B=E [FHA47)L—Y — — ERHE /MR — — —
2411114] BE | Fo42)1L—Y — — ERET  |kEEF — — —
2411114 BE [FH9A47)L—Y — — ERE  |BH — — —
2411116 BE |FoA42)IL—Y — — ERHE | KKF — — —
2411116 BE [FHA47)L—Y — — ERE | KKF — 21.33 21.33
2411116] BE |FoA47)L—Y — — ERET [EH — 21.52 21.52
24111119| BZE [ F947)L—Y — — FET | R)IE — — —
24[11)19] B=E |FOA47)L—Y — — ERE |5 — — —
24111120 BZE [ F947)L—Y — — ERET (A — — —
2411|121 B=E |F9A4T)L—Y — — ERE (T — — —
2411122 BE [FHA47)L—Y — — ERE [FHHE — — —
24| 11)22] B=E |F9A4T7)L—Y — — ERET [kBAF — 21.69 21.69
2411122 BE [FHA47)L—Y — — ERET AR — 41.87 41.87
2411122 BE |FOA427)L—Y — — ERET |[fET 31.43 24.96 56.39
24111]28] BE [FHA47)L—Y — — ERET |REH — — —
24111128| BZE |Fo47.L—Y — — EEEEEETE — 40.63 40.63
2411129 B=E [FHA47)L—VY — BoE ERET |[RHE 21.95 30.39 52.34
24/11|30] EB=E |FUA47)L—VY — — ERE (&I — — —
2411126 BE [EGE — — ERET  kEAF — — —
24111 1 WE |Fnc LoYXIAD I TEH BE™ 101.95 152.79 254.74
24111 1 WE |[Fnc BHT — ERE | HHEH 297.38 500.55 797.93
24111] 5 WE |Fnc LSYFIAD |— BEm  |KE 62.53 115.74 178.27
24111 7 WE |[Fnc E3PY b — SiEr — 39.65 39.65
24111 7 WE |[Fnc R"IAbF/a |[— ERE |HHEH 257.09 472.98 730.07
24111 7 WE |[Fnc B AD — FEm | R)IE 364.69 685.56 | 1,050.25
24111 7 ITEETO N Lo — ERET |REBH 59447 | 1,066.97 | 1,661.44
24111 7 WE |[Fnc LU=l — ERE | HHEH 859.51 1,525.70 | 2,385.21
24|11 8 WE |[Fnc 91)R3 4 — ERE AR — — —
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g A8 |ATIU— % L1 1@ K RE BT AT | K F [+ 94134229 L1370 AEET
24111 8 ITEE BHT — ERHE |AXE 204.14 354.05 558.19
24|11 8 WE |[Fnc 91347 — ERE |HHEHA 265.49 434.28 699.77
241112 WWE |FnC o [N THEF 24.72 29.77 54.49
2411113 WE |EDC HHT — 3 67959 | 1,178.10 | 1,857.69
241119 WWE |FnC TE — ERET L 262.93 436.68 699.61
2411122 WE |Znl LoHL BiET ERE |HHEH — — —
2411122 WE |ZFnC 2OV AD — ERE  |FEXH 119.26 202.07 321.33
24/ 11)29] uE [Enc BH — EELBREE:ES 453.96 895.17 | 1,349.13
24111 8 FE TRy — — SiET — — —
24 11]13] BHE |[FoRvY — — ERET |[fET — — —
241 11113] FHE [Ty Y — — ERE |HH — — —
24111 2 | ZOfh [FAKA — — ERE  |JIIN 22.01 31.34 53.35
2411115 ZDith [ FAKA — — ERE |HHHA — 29.67 29.67
241 11]26] ¥t |EF — — ERE |BHE — — —
2411119 HxE [ZIF5 — — ERET  |[#H — — —
24111 1 FE  |PE — — ERET  |FWL — — —
24111 2 | Zih X =D =il LK (HEWEZIE. 245 %) |ERET  |FHWL — — —
24111 7| Z0ih % DR BK (B g. 245%) (LEE &8 — — —
24111 7| Z0ih X =D =il LK (HEWEZIR. 245 E) |[ERET  |#H — — —
24111 7| Z0ih %X aseAhY Bk (BEMELIR. 245 ) [ERET  |FHW — — —
241112 ZF0Hh |k =D =il LK (EWEZIE. 245 E) |[ERET /MR — — —
241113 ZDih %X aseAY Bk (BEMEL IR, 245 ) |[ERAT  |BEE — — —
241113 Z0Hh |k =% BK e R, 245%) [ERET |HA — — —
241113 ZDih %X YH=iF% [ RKEERER. 245E) [ERET |BHE — 20.25 20.25
241114 ZF0H |k aveAhl BK (BEr g, 245%) [ELE — — —
24| 11|14 ZF0is % aseAY LK (BHETIR, 245 %) |[ERET  |#%H — — —
241115 ZFDih |k ITxshE Bk (BE IR, 245 %) [LLEE — — —
2411120 i |# asehly Bk (234 %) N NG — — —
241121 ZF0Hh |k aveAhl B (BmErig. 245%) [ERET (LG — — —
24|11]28] ZDih |k aseAY BX(BREE. 245E) |[ERET T — — —
2411129 ZFih |k avehy B (BmErig. 245%) ([ERET |tEEF — — —
24|11]30] ZDih %k aseAY BX(BREE. 245E) [ERET [AB — — —
24111 2 FxE |[S2FLE — — ERE |XFHE — — —
24111 12| BE  |[E0FWLE — — ERHE  |FHFL — — —
24| 11)20] HFHE |ES2FL\E — — ERE  |FL — — —
2411128 BpE  |E0FWLE — — ERHE Lk — — —
24| 11|20 HE |BF — — ERE |[RH — — —
2411122 HE BE — — ERET  [LF — — —
24111]12] BHE  |Cedd — — ERE /MR — — —
24111 14] BHHE  |LedLg — — ERE |FHH — — —
24111]22] BHE |CLedLd — — ERE |[RH — — —
2411122 BHHE  |LehLg — — ERHE Lk — — —
24111129 BHE |CLed — — ERE |[RH — — —
2411116 HE |EH — — ERET  [LF — — —
2411126 HE | EF — — ERE  |JIN — — —
24111 1| 20t | BEFRSE — — ERE  |JIIN — — —
24|11 5| 04t | BEF%E — — ERET |[fET 22.26 33.53 55.79
24111 7| 20t | BERE — — ERHE |RHE — — —
2411119 #oi |BEH — — ERET |REH — — —
2411120 BE [4T7E — — ERE |[RHA — — —
2411 1 FE KB — — ERET [FFHB — — —
24|11 1 FE KRB — — ERE  |FUW — — —
24|11 1 FE KR — — ERET  |FWL — — —
24/ 11] 5 FE KRB — — ERET  |[#H — — —
24|11 7| HFE |KIE — BoE ERE S — — —
24111 7 FE KRB — — ERET |fET — — —
24111] 8 FE KB — — ERE |RH — — —
241 11] 9 I ENPN ] — — ERET (A — — —
2411112 HxE | KB — — ERE /MR — — —
24 11]13] BHE | X — BHY ERE  |FHFUW — — —
2411113 %Hx | KB — BAL ERET  |FWL — — —
24111 13] HE KB — — ERE HHA — — —
24| 11|13 HFE | KiE — — ERE (&I — — —
241 1113] BHE | KiE — — ERHE |BH — — —
24| 11|14 BHFE | KIE — — ERE  |RiEE — — —
24111 14] BBxE | KB — — ERE |A8H — — —
2411114 %Hx | KB — — ERE |RH — — —
24 1115 BH{E | KB A KB — ERE |FEXH — — —
2411115 %Hx | KB — — ERE AR — — —
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2411115 BHE | KB — — ERHE |BH — — —
24 11]15] BHE | KiE — — ERE AR — — —
24| 11|20 HFE | KB — BoE ERET |fET — — —
2411120 %Hx | KB — — ERE  [FFHH — — —
2411122 BHE (KB — — ERE |RHE — — —
24111122 HHE | KB — EoE ERE IR — — —
2411126 $E | KiB — — ERHE &I — — —
24| 11|27 BH¥E | KB — — ERE S — — —
24111127 $HE | KiE — — ERE |BkHE — — —
24)111]28| %Hx | KB — — ERE |fET — — —
2411128 $E | KiE — — ERET  [LE — — —
24)111]28| %Hx | KB ERRENR — ERE |fET — — —
24111129 $E | KiR — Eo= ERE |[RH — — —
2411130 %HZE | KB — — ERET  [LF — — —
2411130 BHxE | XiB — BoF ERE  |FEXH — — —
24111130 %HE |XKiE — — ERE AR — — —
2411130 HE | KiE — — ERE |RHE — — —
2411130 %% | KIBDE — — ERET  [LF — — —
24|11 1 FHxr | KEDE — — FEm | RIE — — —
241 11]26] ¥t | XK= — — ERE  |F&WL 32.76 — 32.76
2411127 Z0it | K= — — ERE |FFHE — — —
2411113 BHE |FoHrUoE — — ERE |BEH — — —
2411116 BHE |FoHUE — — ERET  [LE — — —
24111] 7 Fx | EF — — ERET |fET — — =
24|11 7] HE |EF — — ITET | FEG — — —
2411114] BHE |[CALA — — ERE  [FEFHH — — —
24111126 %% |[CALA — — ERE |[RH — — —
2411126 BHE |[CALA — — ERE  |JIIN — — —
24111]28] $E  |[CALA — — ERET  [LF — — —
24111 5| x| hE — — ERE [FEHHE — — —
2411 14| BHE | hFE — — ERE |[RH — — —
241115 BE |hFE — — ERHE |FEXE — — —
241115 B|{E | hFE — — ERET X — — —
241122 BHE |hE — — ERE |RHE — — —
241 11|26 HE | HWF — — ERE IR — — —
241127 HE |hT — — ERE S — — —
24|11 5| HE A% — — ERET  [EH — — —
24111 5 FE B8F — — ERE IR — — —
24|11 5| HE A% — — ERE  [F%B — — —
24111] 7 FE B8F — — ERET |fET — — =
24|11 8| HFE |AX — — ZinET  |FE¥HE — — —
24111] 8 FE B8F — — ERE |RHA — — —
24| 1114 HFE |AF — — ERET |AEH — — —
2411115 BHE HE — — ERHE  |AEXE — — —
24| 11|15 HFE A% — — ERET |FBEX# — — —
2411116 BHE HE — — ERHE /MR — — —
24| 11|20 HFE |AF — — ERET [EH — — —
2411121 BHxE [Ax — — ERET |fET — — —
24| 11|22 HFE |AF — — ERE  |JIA — — —
2411122 HE |BE — — ERE |[RHA — — —
24111122 HE |HE — — ERHE | KKF — — —
241 11]26] HE |BE — — ERET |fET — — —
2411126 HE BAE — — ERET |[RHA — — —
241 11]28] BH/E |BE — — ERET |fET — — —
24111]28| HE BAE — — ERET  [LE — — —
24111129 BH/E |BE — — ERE |[RHA — — —
2411130 %HxE [AXx — — ERE  |FEXH — — —
2411130 BHE HE — — mETm | — — —
24111] 9 HENRIND)] — — ERET |[RHA — — —
24[ 11| 8 | ZMfh 455 — — ERE | KKF — — —
241113 ZFofh [TIL—AR—=Dw L [— — ERHE | LF — 28.63 28.63
241114 $HE |[Joya— — — ERE  [FFHB — — —
24/11]20] %% |[JAwaly— — — ERE  |BEXH — — —
24|11 5 | ZDith K8k — — ERE |BE — — —
24|11] 5 HE |[[F5hAE — — ERE  |JIIN — — —
24111] 9 HE |[EF5ShAE — — ERHE |BH — — —
24111]115] BHE |[F5HAE — — ERE |BRHE — — —
2411116 BE  |[F5HAE — — ERE  |FHFUW — — —
24111 8 | ZDft | FLKIE — — ERE |BRH — — —
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2411120 ZQfh [FLKIR — — ERHE |BH — — —
2411122 ZOft |[FLKIE — — ERE |BRH — — —
2411126 ZQDfh | FLKIR — — ERE |RHE — — —
24111]26| Z0fth [ FLKIR — — ZiTET | 4H 35.17 42.17 77.34
24111126 BRZE | HHhA — — ERET  [LE — — —
241 11]26| FOih |K — HTFK 3 I e — — —
2411129 FDfh K — FEK ERE |[RH — — —
2411116 Bx |ATE — — ERE  |FHFL — — —
24|11 1 Fx |v—r — — ERE |[RH — — —
24[11|30] %HE |[v—v — — ERET |[fET — — —
24|11 6 | BE BT — — BE™ |#ELHE — 36.86 36.86
24111] 6 EEED — — ERET |RBH 61.40 106.89 168.29
24|11 8 B B3 — — ERET  |kEAF — — —
24111 9 EEES — — ERHET L 35.21 70.66 105.87
24111 )14] BE BT — — B TE 45.28 74.23 119.51
24| 11|16| B=E |pF — — BEm  [ERX — 20.85 20.85
2411116 BE B3 — — ERHE | KKF 36.49 62.69 99.18
2411122 B=E ¥ — — ERE AR 32.91 50.29 83.20
2411126 BE B3 — — FEmh |FHERT — 22.01 22.01
2411126 BE |97 — — BT 26.03 31.96 57.99
24111126 BE |wd — — ERET  |WRiEE 20.30 45.44 65.74
2411129 B=E |97 — — T2 — — —
24111 1 B |373VR — — ERE  |FWL — — —
24111]15| BZE |55 R — — ERE |[RHA — — —
24111]14] B=xE YAZ — BHY BN — — —
24/ 11]15] B=%E |YAZ — — ERE |HHHA — — —
24111]19] B=xE YAZ — — ERET /MR — — —
24111]19] B=E YAZ — ROz ERE 5 — — —
24111]20] B=xE YAZ — BoZ ERET [T — — —
24111]20] B=E YAZ AL — ERHE |FEXE — — —
2411121 B=xE YAZ — — ERET  [LE — — —
24111]22] B=% YAZ — — ERE |BEH — — —
24111]28] B=xE YAZ — BoZ ERET |fET — — —
241 11]28] B=%E |YAZ — BozE ERE |HHH — — —
24111129 B=xE YAZ — BoE ERET  |kEAF — — —
2411130 BE=xE YAZ AL BoE ERHE  |AEXE — — —
2411130 B=xE |YAZ IH# BoE ERET |FEX# — — —
2411130 EBE=xE YAZ — — ERE |RHA — — —
24| 11]28 ol Jhy¥ — — Y e 92.60 173.58 266.18
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2 [£3 Y S w5 K ¥ &

h7d)— % % 18 K e mE A | K F |[#29A134[ 19 L1374 )AEE
Fx |FlE= — — ZirET  |3H — — —
CEE T — — ERAT  |[FHE 23.95 48.70 72.65
BE HIHU — — ERHT L 65.38 100.44 165.82
BEE BV — — ERE | AEHA — — =
B bV — EDH ERE | KAKF 36.07 51.04 87.11
BE HIHU — BDH ERE | KAKF 37.44 61.60 99.04
oM /hNE — — ERE | KAKF — — —
ot /NE — — ERA  |FW — — —
ot /hNE — — ERET T — — =
ot /NE — — ERE B — — —
ot /hNE — — ERE |[RHE — — —
oMt /hNE — — ERE |[RH — — —
ot /hNE — — ERE |[RH 90.85 134.71 225.56
B [ FRINSE — — FEm | RIIE — — —
BE L'slKL — — ERE /MR — — —
BE L'slKL — — ERE | — — —
BE L'slKL — — FEH | R)IE — — —
BE sl — — ZirET dt¥MA — — =
BE [ L'slKL — — ERE /DR — — —
BE L'siKL — — ERE |FFFE — — —
FHE |LAITA — — FEmh | RERE — — —
Z0ih [#EFL — — ERET | AE8H — 2751 27.51
Z0ih #EFL — — ERET T — 31.60 31.60
FE |BE — — ERE |[RHE — — —
FE |BE — — EREE |G — — —
FE |BE — — ERE |[RHE — — —
BE B2 — — ERET |l — 25.9 25.96
FE |BE — — ERE  |BEH — — —
FE |BE — — EREA  FW — — —
FE |BE — — FEm | FER — — —
BE M Hh — ERET & — — —
BE M Hh — ERAE AR — — —
BE M AFRELE — ERET | AEBH — 21.76 21.76
BE # — — ERE  |FFFE — — —
BE M B — ERET  |FHE — 26.85 26.85
BE M B — ERE AS — — —
BE M B — ZIiTE (R EG — 28.73 28.73
BE M B — ERET  |[FEXH — 22.96 22.96
BE M 7R Hh — ERET  [HBAF — — —
BE M 7R Hh — ERET [BH — — —
BE M — — ERE /MR — — —
BE M B — ERE  |BEH — — —
BE M T — ERHET |RH — 20.30 20.30
BE M — B2oE ERE | AEHA — — —
BE M — — ERET  |[BEH — — —
BE M — — ERE AS — — —
BE M R — ERE |EW — — —
BE M R — ERE |BEW — — —
BE M — — ERET  |BH — — —
BE M — — ERET |[RHE — — —
BE M Uiblzta — ERET |EW — — —
BE M BE — ERET |EW — — —
BE M — — ERET  |BH — — —
CEL [0yt BoE ERET  [AX# — — —
BE KF BR2oE ERE [ARE — — —
BE (Y= P — ERET | KKF — — —
BE BE — ERET | KKF — — —
BE (Y= P — ERET  |BEH — — —
BE M SHT — ERET  |BEH — — —
BE M — — ERE  |/MR — — —
CEL oA — ERE | HfEH — — —
BE # — — ERET  |BH — — —
BE # — — ERET |[RHE — — —
BE # — — ERHET [l — 20.56 20.56
RE # T#% — ERET |[RHE — — —
FxE | — — ERET  |BH — — —
BE # — BOEAAHL ERHET  |[AXE — — —
BE M — — ERET  |FEFHE — — —
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hFdy— & # 18 ® BE TR A [ K F [tI9A134|429L137[E20AEE
BE | Eix — ERfT | AEHA — — —
BE |H Ei% — ERET |5 — —
BE |H Hh — ERET L — — —
BE | BE — ERET HHE — — —
BE | H — ERET [BHE — — —
BE |# Eix — ERET |[BHE — — =
BE |# Him — ERET AR — — —
BE # — — ERE |FFFE 22.82 36.72 59.54
BE |# E — ERAT | AEHA — — =
BE |# — BoE ERET  |BH — — =
BE |# — — ERAET L — — —
BE # — — EELEE ] 27.41 49.31 76.72
BE |# EE — EELIIE R — — —
BE |# Him — ERET  BHE — — =
BE |# EE BoE ERAET (B — — —
BE |# EE — ERAT  |[BEE — — =
BE |# — — ZHT — — —
B |m = — EELE ] — 24.30 24.30
BE |# %BE B-~f-D2& ERET AR — — —
BE |# = — EY e — — =
BE |# TRE — ERE | KKF — — —
BE |# %BE — ERET AR — — —
BE |# ERRE — ERET |[BH — — —
BE |# %BE — ERET | BHE — — —
BE |# ERRE — ERET  BHE — — —
BE |# ERRE — ERET  BHE — — —
BE |# — — ERET  |FHH — — —
BE |# %BE — BRI — — —
BE |# ERRE — EREA  FHFW — — —
BE |# BB BoE ERET  |BEH — — —
BE |# ERRE — ERAET /MR — — —
BE M ERE — ERE |[RHE — 20.02 20.02
BE M — — ERE | AEH — 25.06 25.06
BE # TiE BOE ERET  |BEH — 32.87 32.87
BE M = BOE ERET |A8H 22.81 23.56 46.37
BE |# 1% 5 — ERET  [HBAF — — —
BE |# %BE — ERE AS — — —
BE |# TRE — ERE AS — — —
BE |# ERRE — ERET  |[BEH — — —
BE |# %BE — ERE AS — — —
BE |# TRE — ERE SR — — —
BE |# B A — ERET  |BEH — — —
BE |# — — ERET | HHHE — — —
BE |# ERRE — ERE |FFFE — — —
BE |# TRE — ERET S — — —
BE |# %BE — ERE AS — — —
BE |# Hi — ERET | HHEHE — — —
BE |# RERFH — ERET  |BEH — — —
BE |# TRE — ERET |EW — — —
BE |# — — Zirhr | m¥A — — —
BE M Hh — ERET  |FHB — 20.30 20.30
BE M Hh — =mEm | AKH — 20.95 20.95
BE M HH Bl ERET [l — 2212 2212
BE M HH BHY ERET [l — 23.87 23.87
BE |# TRE BHY ERE /MR — — —
BE |# — — ERE  |/MR — — —
BE |# TRE — ERET SH — — —
BE |# — — ERE  |/MR — — —
BE |# TRE — ERET | KKF — — —
BE |# TRE — ERET |EW — — —
BE |# TRE BiEL ERE  |/MR — — —
BE |# %BE — ERET |EW — — —
BE |# TRE — ERET |[RHE — — —
B=x |# ERE — ERE  [/MR — — —
BE |# Hif BHY ERET  |BHE — — —
BE |# Hif — = R AT — — —
FE |[HhX — — ERET | KKF — — —
HE | hEFbe — — Y BE L — — —
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h7d)— % % 18 K Be mE A | K F |[#29A134[ 1S9 L1374 AEE
BE |[hiEFbe — — ERE |RA&H 22.36 — 22.36
FHE [hEFbe — BoE ERE  [RiEFE — — —
FHE [hEFbe — — ERE |RHE — — —
FHE [hEFbe — — ERET  |BEH — — —
FHE [hEFbe — — ERE | KKF — _ —
FHE [hEFbe — — EEE NG — — —
FHE [hEFbe — — ERE AR — — —
EEAENELES — — ERET |l 28.91 83.28 112.19
Fx (HUI57— |— — ERE | KKF — — —
2x YA — — ERET |l — 23.68 23.68
BEE HMYA — — ERET  |BH — — —
B F947)L—Y |— — ERE | RA&EH 24.74 29.91 54.65
BE F947.L—Y |— — ERET  |BEH — — —
B F947)L—Y |— — ERET |RH 21.10 23.35 44.45
B F947)L—Y |— — ERET  |[FHW — 28.31 28.31
B F947)L—Y |— — ERET |#EH 23.28 36.99 60.27
BE F947.L—Y |— — ERE AR — — —
B F947)L—Y |— — ERET [RH — 25.70 25.70
ZThith |3 — — ERE B — — —
ITEE YaAERYT — ERE & — — —
MTEIED) - Liy=l — EREET |l 78.98 122.44 201.42
hE |En — — =ET ik 68.05 134.83 202.88
W [Enc — — ERET | RAAHE 108.74 179.23 287.97
hE |En WU AS MTEH ERE |[F8H — — —
MTEIED) - Liyi=Il — ERE | AEH 530.95 930.81 | 1,461.76
W [Enc — — ERET | RAHE 218.07 390.63 608.70
hE |gnc 733 — ERET /MR 247.21 427.84 675.05
WE |Fnc HsLHL — AA™H /MR 262.91 437.36 700.27
MEAEDS — — ERE |ty EE — — —
WE  |Enc — — BERE |ty EHE 25.99 46.28 72.27
hE |gn =25 — ERET |RH 29.42 4312 72.54
WE  |Fn B2H — ERE | AEHA 24.38 52.25 76.63
ITEARET 825 — ERAET L 59.44 92.35 151.79
MEAEDS NFATT — BE™ 128.99 217.79 346.78
ITEAE. 29t H — ERE  |/MR 317.88 656.28 974.16
ITEAE. Fo=1t — Bam  |[/hE 51.98 74.79 126.77
ITEAE- — — Ba™h 208.38 356.24 564.62
WE |[Enc EH — ERE 3FEHH 23.15 31.91 55.06
ITEAE- TR — BEHE |tyER 44.42 81.24 125.66
ITEAE. =25 — ERE |[RH — — —
ITEAE . hFEAD — BE™ — — —
WE g a3y — BaT 81.22 154.46 235.68
ITEAE. LoHL — EITE (R EG 140.63 238.92 379.55
WE g EH — ERET [AXE 187.89 277.50 465.39
WE |[Enc — — BRE |ty EH 236.23 428.42 664.65
ITEAE. FE — Ba™h 360.81 632.90 993.71
ITEE ROFESY |— BA™  |#mE 4385 92.71 136.56
MTEAEN LHL — ERE |FFFE 67.16 133.66 200.82
WE |[Enc INEL — HE™ 256.97 418.76 675.73
TESNE M A1/1vF — N=ET IR 3,203.40 | 568822 | 8891.62
WE  |Fnc RO AD — KRM | Ki — — —
WE |[Enc HHETEL — YRS 82355 | 1,383.05| 2,206.60
WE |[Enc KsLHl — BaET 135.95 242.14 378.09
MEINED <158 — R HT — = —
WE  |Fnc 9B — EHE [ty EE — — —
ITEINEI — — ERET  |FEHFE 20.89 39.43 60.32
TEARE =l b — FEm | EILET 194.71 554.08 748.79
LE  |=0C A — EERT |FHH 63.66 92.61 156.27
WE  |Fnc L=l [RARF ERET  [AXE 290.55 514.86 805.41
LE =0 LULM=IF — ERAT | JBAF 150.31 228.88 379.19
LE  |Zoc LU= [RARF 5% ERET | #&WL 300.83 499.44 800.27
WE  |Fnc L=l [RARF f2E™ |FLE 143.87 267.05 410.92
ITEIRET — — ERAET /DR 32.36 53.98 86.34
WE  |Fnc LLMf=it — ERET  |EEBEF 60.87 139.07 199.94
WE |[Enc BH — ERET  |EEF 141.70 236.18 377.88
WE |[Enc a3 — BEH | R)IAE 550.83 | 1,048.68 | 1,599.51
WE |[Enc LSHFIAD |— BA™H |[/MER 487.30 869.11 1,356.41
FE [Fry — — ERET | KKF — — —
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# E H 2 [£3 Y S w5 K ¥ &

E AHHTFIV—] & 18 K Be mE A | K F |[#29A134[ 1S9 L1374 AEE
24[10][23] BHE TRV — — ERE  |JIIA — — —
24/10]29| $HxE  |[FvRY — — EE T — — —
2411031 FHHE |[Try — — ERET T — — —
24110/ 2| Bx |E — — ERE | KKF 31.22 45.44 76.66
24110/ 3| Bx |E iR — ERE | KKF 21.92 58.62 80.54
24110/ 5| B=E |E — — EEAE IR — 25.51 25.51
24110| 5 Bx £ — MTEH w=Em kBT — 27.96 27.96
24/10/10) B=xE |E — WMTEH ERE |ZFHE — 26.52 26.52
24/10/10) B=xE |E — — ERE | RAHEH 27.47 44.42 71.89
24/10/16| B=xE |E — — ERET T — — —
24110/25| B=xE |E — — ERE | RAHEH 31.08 62.89 93.97
2411019 £ |8 — — ERE B — 27.48 27.48
24110| 3 FE |d—F% — — ERET |#EH — — —
241101 1 EBEAINES) — — ERE  |JIIA — — —
2411018 HHE |JTIF>5 — — ERET [BH — — —
2411012 $E  |/MAE — — ERET | — — —
24110/ 16| B |/MAE — — ERET  |FHW — — —
24110|16| FpZE /MR — — ERET  |FEXH — — —
24110 3| Zmih Xk — %K (235 E) BE™H  |ER — — —
24|10 5| Zih XK aieRY Tk (A IE. 245 %) |[ERET | AAH — — —
24110 9| Zih XK — Tk (BmEzIE. 245 ) [ERET |[AX#E — — —
24110 9| Zih XK aveHY Tk (Mg, 245 %) |[ERET | RHE — — —
24110 9| Zih XK aieRY Tk (BmEzIE. 245 ) [ERAET |[BE — — —
24110/ 10| ZD#h Xk aveHY Tk (BEEzIE. 245 %) |fEE™ | TFEF — — =
24110 15| ZDH Xk aveHY Tk (Mg, 235 %) |[ERET | EHE — — —
24110 15| ZDHh Xk — BK (BEWEZIR. 245 E) — — —
2411019 ZDHh Xk aveHY BXK (BEmEzIR. 245 E) (ERET  |&3 — — —
2411022 ZDHh Xk VEDHIEFN Tk (BEAREZIE. 245 ) [BR™ (8 — — —
24110[22| Zofh [k — %K (235 E) ERE | AEH — — —
24110 25| ZDHh Xk aveHY BK (BEmEzIR. 245 5E) (ERET /MR — — —
24110 25| ZDHh Xk aveHY BX(BAREZIE. 235E) ([ERET |BEH — — —
24110 25| ZDHh Xk — BK (BEEzIR. 245 5E) (ERET |1 — — —
24110 25| ZDHh Xk aveHY Tk (BEAREZIE. 245 ) [FZETh |2 — — —
24110 25| Zih |k — BX (BEmEziE. 245 5) ([ERAT  |[FAXE — — —
24110[ 25| ZFih XK — Tk (BmEzIE. 235 %) [ERAT |[AXAE 20.02 33.20 53.22
24|110]29| Zofb [k VEDHIEFN LK (HEmEzIR, 245 %) |AA™H  |[#E — — —
24110]29| Zofb [k aseHhl BX (BEmEziE. 245 ) ([ERAET  [FAXE — — —
24|110]29| Zofb [k aT kAl BX(BAREE. 235E) [ERET (WA 41.55 54.81 96.36
24110] 9| Foih [HKHH — — ERHET |RH 29.76 35.14 64.90
24/10]29| EB=xE &3 — — ERET [l — 21.77 21.71
24110/ 1 B |[SoFEVE — — ERHE | KAKF — — —
24110 4| BHE |ZDOFWG — — ERE |FFFE — — —
24110| 5 EIEE I3 — — ERE | HAEH — — —
24110 11| BE  [ZDFELE — — ERET [l — — —
24110|15| $E  |[ZDFELE — — ERHE | KAKF — — —
24110|16| $E  |[SDFELE — — ERET  |[EX# — — —
24110|26| $E |[SDOFELE — — ERET  |[EXH — — —
24110|29| $HE [ZDOFELE — BHY ERET /MR — — —
24[10/29| BHE [ZD2FLE — BiL ERET /MR — — —
241101 1 FxE BF — — ERET IR — — —
24|10/ 5| HxE |B¥ — — ERE  [FHUW — — —
24|10/ 9| HxE |BF — — ERHET |[RH — — —
24/10/10| HH%xE |B¥ — — ERHET |[RH — — —
2411011 HHxE |BF — — ERET  |JIA — — —
24110/ 11| HHxE |BF — — ERE  |JIA — — —
2411012 HHxE |B¥ — — ERET [T — — —
2411019 HHxE |B¥ — — ERET [T — — —
24/10|22| %HHE |BF¥ — — ERET  |BEH — — —
24110| 2| $HFE |[CehLrg — — ERET | RAE8H — — —
24110|16| $ZE  |[CohLrg — — ERET | L — — —
24110/ 11| %HFE |HH — — ERHET |[RH — — —
24110/ 11| Z0ih |[BFR%H — — ERET  [AXE — — —
24110[29| Z0fth BR%E — — ERHET  |[AXE — — —
24/10|31| =i |BEFR%H — — ERHET [T — — —
2411019 HE |37FE — — ERHE |BE — — —
24110 9 EMPN ] — — ERE | KKF — — —
24|110[16| HE | KiR — — ERET [l — — —
24|10[16] HE | KiR — — ERHET [l — — —
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(BA47: Ba/ke)

2 [£3 Y S w5 K ¥ &
h7d)— % F 18 K Be mE A | K F |[#29A134[ 1S9 L1374 AEE
FE | KR — — ZirET |FH — — —
FE | KR — — EEEE ] — — —
FE | KR — — ZET — — —
FE | KR — — ERET [T — — —
FE | KR — — ERET  |HBAF — — —
FE | KR — — EEEE ] — — —
FE | KR — — ERE AR — — —
FE | KR — — EELE ] — — —
FE | KR — — ERE /MR — — —
FE | KR — — ERET |RH — — —
FE | KR — — EELE ] — — —
FE | KR — — ERE /DR — — —
FE | KR — — ERAT | AEHA — — —
FE | KR — — ERE |FFFE — — —
FE | KR — — ERET |RH — — —
HE [FELF — — ERE | AEH — — —
BE |[FUHUE — — EEEE ] — — —
BE |[FUHUE — — ERE B — — —
FE [E5HA — — FEm | RERE — — —
T [ELEHFE — — ERE AR — — —
y:\ EL&LS — — ERET | AE8H — 29.77 29.77
g — — EREE |l — — —
FE |57 — — ERET  |BEH — — —
BE 428 — — ERET |fET — — —
EEIRIRS — — EREA  FW — — —
EEIIRS — — ERE /MR — — —
EEIRIRS — — ERAE AR — — —
FE  [IZALA — — ERE |[RHE — — —
FE  [IZALA — — EREE |l — — —
FE  [IZALA — — ERE | KKF — — —
FE  [IZALA — — ERET |[BH — — —
FE T — — ERE |[RHE — — —
FE T — — ERE |[RH — — —
FE T — — ERE &3 — — —
FE T — — ERE L — — —
FE T — — ERA [JIIA — — —
FE T — — ES i B — — —
FE T — — ERE L — — —
FE T — — ERET  |BEH — — —
FE T — — ERE  [FHL — — —
FE T — — ERE | KKF — — —
FE T — — ERE |[RHE — — —
FE |AF — — ERE | KKF — — —
FE |BAF — — ERE |[RHE — — —
FE |BAF — — ERET  |BEH — — —
FE |BAF — — ERE L — — —
FE |BAF — — ERE L — — —
Fx |B% — — ERET  |fET — — —
Fx |B% — — ERET  [ABAF — — —
Fx |B% — — ERET |[RHE — — —
Fx |B% — — ERET [BH — — —
Fx |B% — — ERET |[RHE — — —
Fx |B% — — ERE  [FHUW — — —
Fx |B% — — ERET | KKF — — —
Fx |B% — — ERET |[RHE — — —
Fx |B% — — ERET  |BH — — —
FxE E—<v — — ERET  |BEH — — —
B=E [5ES — — ERET [l — 23.02 23.02
FE [ZAva)— |— — ERET |[RH — — —
FE [ZAva)— |— — ERE S — — —
FxE  |[Joyaly— — — FEm | R)IE — — —
Fx [JAvay— |[— — ERET |FEFHE — — —
Fx [JAva)— |— — ERET (8T — — —
FE |[F5hAE — — ERET |EW — — —
FE |[F5hAE — — ERET  |BEH — — —
FE |[F5hAE — — ZiTET  |[FEB — — —
e D A — ERET L — — —
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BREEBHAEEYNICESFNATOSHRHAMEYMEDRIELHER —E R (H24.10.1~H24.10.31)
(Bifér - Ba/ke)

# E H 2 [£3 Y S w5 K ¥ &

E AHHTFIV—] & 18 K Be mE A | K F |[#29A134[ 1S9 L1374 0AEE
24110] 16| B=E |HR — — ERE  [#RiEE — — —
24110|22| HE |HTE — — ERET /MR — — —
24/10|26| FHHE |H#TE — — ERET |[#EH — — —
24110 31| ZDh |BRrg — — [= R BT — — —
24110/10| HE |S=hTb — — ERET T — — —
241101 1 BFHE | HLON — — ERET |ZFHE — — —
241101 1 FE | HLOH — — ERET  |[FHW — — —
241101 1 FE | HLOH — — ERET /MR 34.73 66.24 100.97
24110| 9 FE | HLOH — — ERE |ZFHE — — —
24110 11| BHE | HLOHH — — ERET |#EH — — —
2411015 BHE | HLOHH — — ERET /MR — — —
2411015 BHE | HLOHH — — ERET |l — — —
2411015 BE | HLOHH — — ZITET  (FEG — — —
24110|25| FHE | — — ERET /MR — — —
24|110(16| %Hx |v—av — — ERET | L — 42.70 42.70
24110/ 22| ®pE |IUEZE — — ERET  |[BEH — — —
2411015 B=E ¥ — — = R ET — 30.08 30.08
24/10|26| BE BT — — ERET T 23.08 41.86 64.94
2411022 BZxE | koKH — — ERE B 48.34 74.04 122.38
24110 (15| $HE |5-FLD — — ERET |RH — — —
2411029, BRE |S75VX — — L PN — — —
24110/ 1 B |YAZ — — ERET &3 — — —
24/10/10] EB=E |YAZ Z2EYAZ — ERE | AEH — — —
24110/ 11| B=E YAZ HE — ERET |RH — — —
24110/17| B=xE |YAZ — — =ET — — —
24110/29| EB=xE |YAZ — — = R HET ¥ — — —
24110| 9 R | HIUE — — ERE | KKF — — —
24110 9 WE [ Hhoo — F FEm  EIUET — — —
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BREERAREVMNICEFEFNTLSHHEME O RIEFHER —E R (H24.9.1~H24.9.30)

(B {I:Bg/kg)

B E H 2 [£3 Y F W i " 5 T B B

£\ /8|8 |A73)—| & 18 ® e A K F |£294134[ 429 L137][290EE
241915 B2x [LyvbalKL — BoZ ERE | REH — — —
241 9] 7 Bx [LvbalK — — ERET | REH — — —
2419 112 BE LWL — — ERHE |RH — — —
241 9 114 BE LWL — — E RHT |#EH — — —
24| 9 |118] B=E [Lv6LEL — — ERHE |AFH — — —
24| 9 118] BZE |LWvBLEL — — ERHE &S — — —
2419 126] HE |LVAFA |— — = RET |fET — — —
2419 11| HE K= — — E R FHFL — — —
24| 9 12| HE |2 — — SET |3 H — 34.35 34.35
2419 24| HE BE — — E R FHFL — — —
2419 25| HE BE — — ERHE |RH — — —
2419 26| BHE BE — — E R FHFL — — —
2419 27| HBE BE — — = RHT |#H — — —
241 9] 3 B=x |[# B®E BAiL E RHT /MR — — —
241 9] 3 B=E |[# Vbt o E RHT /MR — — —
241 9 |11 BE |f B®E BAiL ERHE | ABEF — — —
241 9 |11 BE |f %E o ERHE | HBEF — — —
241 9 |14 BE |f Hh — = SET JIIN 2451 26.51 51.02
241 9 |18] BE |f %E — ERE & — — —
2419 3| H/E [HiFbe |— — ERH |F5E — — —
2419 6| H/E [ HiEFbe |— Bo=E = RHT |/ — — —
2419 10| BH/E [HlFbey |— — SEITHT | IS — — —
2419 |11 H/E [HlFbey |— — E R S — — —
2419 13| H/E [HlFbey  |— BoE ERH |F5E — — —
2419 21| H/E [ HlFbe  |— HhiELY ERHE X — — —
2419 21| H/E [HlFbe |— bk ERHE X — — —
2419 24| H/E [ HIFbe  |— — E R FHFL — — —
2419 (27| H/E [ HiFbe |— — ERE REH — — —
2419 (27| H/E [ HiFbe |— — ERHE | =6 — — —
2419 (27| H/E [ HIFbe  |— BoE = RHT |BH — — —
2419 (28] H/E [HIFbe  |— — ERH | KAF — — —
24| 9 26| WE |[FNo — — BAT — 28.48 28.48
2419 127 HE F35Y — — ERHE |AEH — — —
24| 9| 7 Bx [E — — ERH [RH 22.13 42 .84 64.97
241 9 21| BE [E — — ERHE |AEH 23.03 54.19 77.22
241 9 1271 BE [E — — ERH [RH 28.47 55.99 84.46
24| 9 |28 BxE |E — — = R [ 1L 23.57 32.84 56.41
2419 20| BHE |d—vF — — = R HT L& — — —
24| 9 |19 B |/MBE — — ERH [T — — —
241 9| 5| F0ith %k — KX =ET — — —
241 9 13| Zith %k — Tk (23FE %) = RHT |BH — — —
24| 9 14| Fih [X avehY BK (234 EE) ERH [RH — 21.87 21.87
241 9 | 14| Z0ith %k avkeAY LK (BARIR. 235%) |[ERAT |RE 21.95 43.65 65.60
241 9 (27| F0ith |k avkeAY BK(BARIR, 235 ) | L HE — — —
2419 110] BE |ZDOFLD |— — SEITHT [P IS — — —
241917 FE BF — — ERHE | BEH — — —
2419 18] BE |CedLny |— — FEm [RERT — — —
241 9 13| BH{E [DBLoHEE|— — ERH [RH — — —
241 9 18] HBE |EF — — FEm [{RERT — — —
241 9| 4 Bx 3 =K — E RHET [FAXE — — —
24/ 9]20] EBExE |3 25k BizL-f@4L EEEREETE — — —
2419 [12] BHE AT — — [E R ET | L — — —
2419 20| BHE (AT — — (= R BT | L5 — — —
241 9 [14] HBE I — — E RHET /MR — — —
241913 BHE |hEFE — — ERE F%E — — —
241 9 |13] BHE | HhTF — — E RHE [5RH — — —
241 9 126] BHE | hEF — — E RHE [5RH — — —
24|19 25| Zith EDE — — ERHET [AXE — — —
241915 BxE |35 TI9IF — ERH [RH — — —
241 9| 4 B FL—>r |— — ERHET | KKF — — —
2419110 BxE |TiL—r |— BoE-fgkl ZIET | EAR — — —
24/ 9 (18] B=E KK — — ERA [RA — — —
24| 9 |26 F0ih |mkrg — X-HHE =-#HE ERH [RHA — — —
24| 9 |26 FDih |mkrg — X-HHE =-RHE ERH [RHA — — —
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(B {I:Bg/kg)

# %F H 2 [£3 Y F W i B HE WM B

£ A|8|A73)—| & 18 1K g TR A K F |+ 94134[ 429 L137 22905
2419 26| Zofth |okig — — ERHT |#H — — —
24| 9 10| HFE | HLOH — — = RHT | L — 20.44 20.44
24| 9 18| HE | HLOH — — ERHE T — — —
24| 9 26| FFE | HLOHH — — ERHE | KKF — — —
24| 9 26| FFE | HLOHH — — ERHE T — — —
24| 9 126] BFER |HLOH — — ERHE |RH — — —
24| 9 |128] BHHE |HLOH — — ERHE |RH — — —
24| 9 128] BHHE |HLOH — — ERHE X — — —
241 9| 7 B2x | 2OR) — ERHE X — — —
2419 18| BRZE [;F3 RVTIRR)S |— ERHE S — 21.01 21.01
241 915 B2x |YAZ — Bo= ERE REH — — —
2419 14| E=xE YAZ — BAiL ERHE | KAKF — — —
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HERBEYAICEFNATLIRSHEYEORIEHR R —E R (H24.8.1~H24.8.31)

(B {iL:Ba/ke)

A E B = E L2 E W B 5 T B B

£ A BlATId)—| & & K BE HETAT K F |+ 9A134 239 L1372 LB E
24| 8 | 1 BxE L\'sIK — — ERHE | KKF — 32.01 32.01
24| 8 130 BZE |[Lv6LL — RO ERHET JtEAF — — —
24| 8 27| BHE |LWAITA — — ZITET | B — — —
2418 131 HE |LVAITA |— — ERHET &L — — —
24/ 8|10 BHE BE — — = R BT | L% — — —
24/ 8120 BHE BE — — = R BT | L% — — —
24/ 8 124 BHE BE — — = R BT | L% — — —
24/ 8129 HE BE — — ERHET /MR — — —
24| 8| 3 ¥FE |93 — — ERE |JIIA — — —
241 81 9 ¥E |93 — — ERHT |#EE — — —
24 8 (17| HBxE #0U35 — — ERHET |RE — — —
24 8 | 21| BHBE A5 — — ERHET |F&FLL — — —
24| 8 23| B/E |A#U35 — — = R BT | L% — — —
24181200 BE # Ubl=h RO ERHET FHFLIL 20.58 — 20.58
2418 23] B=E |f (Y =r R#iL ERHET FHFLIL — — —
2418 (23] B=E |f [y =r ROz ERHT FHFLL — — —
2418 24| BE |f UDibt=4a ko-ERLL  |ERAT |FHL — — —
2418 24| BE |f (Y= Jo-E2E  |ERHET |FHIW — — —
2418 24| BE |f Uibt-4a EbhiWE-E |[ERET [FIL — — —
24| 8| 2 FE |[hFbe — — E RHET |F&LLU — — —
24| 8] 3 FE |[hFbe — — ERET |fET — — —
24| 8| 8 FE |[hFbe — — ERHET |RE — 23.44 23.44
24/ 819 FE |[hFbe — — = R BT | L — — —
24| 8 10| BE |[HIFbBo — — = R BT | L% — — —
24| 8 17| BHE |hIFbo — — ERET | X — — —
24| 8 23] BHE |(HhIFbe — — ERHET /MR — — —
24| 8 | 16 WE |FEnc TIETERE | — 2EmH 25.49 39.79 65.28
24| 8 | 1 Fx |[EdY — — ERHET |RE — — —
241 8| 6 FE  Ep5Y — — B LIAEEPN 5 — — —
2418 8| BHE |EpdY — — ERE RHE — — —
2418 21| BHE |[EFEpdY — — ERET | HHEH — — —
2418 21| BHE |[EFEpdY — — ERET | HHEH — — —
24| 8 (24| BHE |FEpOY — — ERE HAH — — —
248 31| BHE |[EpdY — — = R ET | L% — — —
241 8 6 FxEx |d—v — — ERHE HRIERE — — —
241 8 24| BHHE |d—v — — ERHET FLL — — —
2418 | 1| Z0i X aveAh!) BARLIZ ERE | BHE — — —
241 89| FOHh XK aseAhY) EEAC] ERHET FHFLIL — — —
24| 8 | 21| i % — BX% FER — — —
24| 8 124 ZDfh K aveHY A ERHET |RE — — —
24| 8 29| Fih X% aveAh!) BARLIZ ERE BHE — — —
24| 8 |27 BHE |TOoFVVE  |— — = R ET |l — 26.25 26.25
24| 8| 2 FE |LLES — — ERHET | FZFWL — — —
24 8| 1 FE  [Ledrd | — — = R ET |l — — —
24| 8 | 1 FE Ledhlndy  |— — ERHET |RE — — —
24| 8| 2 FE  [Ledrd | — — BRSNS — — —
24| 8| 2 FE  [Ledrnd | — — E RHET |F&FWL — — —
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241 7 10| B¥E |CedLr tHMY E RHET /MR —
24| 7 12| HE [CedLrd — ERH [ KKF —
24| 7130 E¥E |Cedrg — = RET |BRE —
241 7 112 BFE  |CedLrE — ERHT |FLW —
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£ A8 |hT3)— £ G mm fE K& TEA] K =F |+ 94134220 L1372 9L &5
241 7 17| BFE  |CedLrt — — = R ET [ — — —
24171 6| FHE [CedhLrd — — = RHT | L — — —
241 7 117 BFE  |CedLrt tHMY — = RET |#RHE — — —
24171 4| HE [CLedhLrd — — = RHT [RHA — — —
241 716 FE Xyx—= — — = RHET | — — —
2417 14| HE RXydF——= — — ERE |RHE — — —
241 71 2 FE | KR — — ERE |5 — — —
241715 EANPN] — — BaT |EEA — — —
241 715 MEAI N — — ERET |RHE — — —
241 71 3 W  |=lFnc — — ERHE HHA 96.89 179.83 276.72
241 7] 2 ITEIS . — — ERHE |[EE 55.03 71.28 126.31
241 7| 3 W  |=lFnc — — ERHE X8 40.65 68.71 109.36
24| 7| 2 WE  |f=lrnc — — ERE | KKF 21.32 23.76 4508
24| 7 13| WWE |[F=H0Z — — EeTh EE — 22.18 22.18
241 71 2 FE |[FEhF — — ERHET |/MRE — — —
241 7] 2 FHEAES A — — ERET /MR — — —
241713 FE |[EhF — — ERET GRH — — —
241 74| BE |ELFE — — ERE |RHE — — —
241716 FE |[EhF — — ERET |RHE — — —
24171 6 HEANES AR — — ERHET AR — — —
24| 7 10| HE |[FEhF — — = RHT |81 — — —
24| 7 12| HE ([ FhF — — ERET |fET — — —
24| 7 12| HE |[FEhF — — = RHET |F&LW — — —
24| 7 13| HE | FhF — — ERET |fET — — —
24| 7 17| HE |[FEhF — — = RET |BRHE — — —
24| 7 18| HE |[FhF — — ERET |fET — — —
24| 7 18] HE |[FEhF — — = RHET /MR — — —
24| 7 18] HE |[FhF — — ERET EHE — — —
2417 4| BHE |[FEhF — — = R ET [BRE — — —
241 7] 2 HEANES AR — — ERE FEFE — — —
241716 FE |[FEhF — — = RHET |FLW — — —
24|17 120 HE | FF — — ERE IXEFE — — —
24| 7 18| BHE |[FEhF — — EELEEETE — — —
241 7] 2 FE | FEhF — — ERE |RHE — — —
24| 7 23| BHE |[FEhF — — E RHT [T — — —
241716 HEANESFES — — E RHET | — — —
24| 7 127| HE |[FEhF — — EELEEETE — — —
241 713 HEANES AR — — ERE |RHE — — —
24| 7 23| BHE |[FEhF — — ERHET | KKF — — —
2417 14| BHE | FEhF — — ERHE | EE — — —
24| 7 10| BFHE |[FEhF — — E RHT |1 — — —
24| 7 19| BHE |[FhF — — ERE HH — — —
24| 7|17 HE |[FEhF — — ERH |BH — — —
241 713 HEANESFES — — = R ET 1L — — —
24| 7 10| BHE |[FEhF — — E RHT |1 — — —
24171 6| FHHE |DBHLLIE — — E R8T |JIIA — — —
24| 7 125 HE |ES5EACL — — ERHT |[FaR# — — —
24| 7 130 BFE |ELS5EACL — — ERHE |S535 — — —
24| 7|31 BHE |[E5EACL — — = RHT | L — — —
24| 7 11| BpE | ES5EACL — — ERHE | KKF — — —
24|17 127 BHE |ES5EACL — — FE |28 — — —
24| 7 17| BE |ES5HACL — — ZIHT [FEDA — — —
241 7 19| B¥E  |FRFE — — = RHT |8 — — —
24| 7 23| HE |FIE — — ERE | H8H — — —
24| 7 30| B¥E kb — — = RHT [RH — — —
241 716 BFE |FIF — — = RHET AKX — — —
241 7 117 BE  |FIF — — = RHT | — — —
241 7 25| BFE |FYH — — = RHET AKX — — —
24| 7 23| B¥FE bk — — ERE AEH — — —
241 74| BE KT — — = RHEr |RH — — —
24| 7| 9| BHBE BT — — = RHT | L — — —
24| 7 12| HE LT — — ERHE & — — —
24| 7 13| BE KT — — ERHT AKX — — —

5/1
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£ A8 |hT3)— £ G HE A K = [t394134 DUIN
241 7 17| HE LT = RHET |#&H —
24| 7 17| BE KT ERHT [RHE —
24| 7 18| HE LT = RHET |81 —
24| 7 | 24| BHE BT EEEEIES —
24| 7 26| BFE |LT ERAT I —
2417 13| HxE 4T ERHT AR —
241 7 17| BFE BT ERAT I —
24| 7 125 HxE LAY ERHET |RHA —
24| 7 19| HE LT = RHT |RH =
2417 27| BE (LT ERHE X8 —
241 719 BE LT ERHT |fET =
24| 7 17| HxE LT E R ET L5 —
24| 7 27| BE LT — E RHET /MR — — —
2417 16| HxE LY — E RHET |81 — — —
24| 7 123 HE BT — = RHT | 1L — — —
24| 7 24| HxE LT — ERHET A — — —
24| 7 18| HHE LT — — E RHET IREFE — — —
24| 7 18| HxE LY — E RET L5 — — —
24| 7 20| BHE |9 — — ERAT I — — —
2417 16| HxE LY — — E &8 |JIIA — — —
241 7130 BFE (LT — — = RHT |81 — — —
24| 7 17| HxE LT — — ERET |fET — — —
241 75| BHBE |HY.Fp5Y. S&F |— BE = R AT | L — — —
24| 7 [12 f IZLET — — =R |15 ET — — —
24| 7 | 24| BHHE |IH — — ERET HH — — —
241713 Fx  [ICALA — — ERET |fET — — —
24171 4| FHHE |ICTALA — — ERET |RHE — — —
241 7] 2 Fx  |ICALA — — FET |2 — — —
24| 7 11| BHE |ICAIK — — = RHT |81 — — —
24| 7 123 FHFE |ICAIK — — ERHET &L — — —
241 7 11| BHE |ICAIK — — = R BT 1L — — —
24|17 125 HHE |ICAIK — — = R ET 1L — — —
241 716 B [IcAIL — — ERHT [RH — — —
2417 15| BHE | HhE — — ZIFET A3 H — — —
24| 7 11| BHE | tU — — ERHET | HH — — —
241716 Fx E—<v — — ERHET AR — — —
24| 7 125 HE |E—<v — — ERHET AKX — — —
24|17 31| HE E—<v ERE |RHE —
24| 7 17| HE |E—<v ERHET JIIA —
24| 7 18] UE |[AH=T ERET [HE —
24| 7| 4 I = R HT | L —
24| 7 123 B=E |J59HRI— ERHET |iRiEE —
241716 B [I354 E RHT | L —
241 713 B [IS5L4 ERE | KKF —
24| 7 23| B=E [JS5L4 E RHET | FAK —
241719 Bz [J5L4 = R BT 1L —
24| 7 13| B=E IS4 E RHET X E —
241719 Bz [J5L4 ERHE |S535 —
24| 7 18| B=E [JS5L ERH | ARH —
24| 7 10| B=E [JSL ERH | ARH 24.33
24| 7 13| B=E [J5L4 ERH |BH 22.47
241 7] 4 BxE JIL—ARY— ERE |RHE —
24| 71 9| EBE [J)IL—AY— E RET |5 —
241715 BxE JIL—ARY— ERE |RHE 24.67 57.45
24| 7| 6| Foft [ TIL—ARY—Iw L = RHT | L —
24| 7 17| $HE |E=RIH ERE | H8H —
24| 7 18| BpE [E=bk<E ERHT |#RiEmE —
241 7 /18| BFE [S=R¥b = R BT | 1L —
24| 7 | 27| %HFE |S=RIH ERHT [RHA —
24| 7 17| $HE |2=RIH ERE )N —
24| 7 20| B¥FE |HLOH = RHET )N —
24| 7 24| BHE | HLON — ERE | HHE —
24| 7 19| HHE Aoy T RA0v = RHT |51 —
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£ A8 |hT3)— % G mm fE K& TEA] K =F |+ 94134220 L1372 9L &5
241 7 10| B=E |k -F= — ERHE | KKF — — —
24| 7 (17| B=E  |#k BJIAE — = RHT T — — —
241 7 18| BE  |#k BIIEE — = RHET AKX — — —
24| 7 18| BE |4k E — ERHT |FLW — — —
24| 7 18| B=E |k B2 — ERHE | KKF — — —
24| 7 123| B=E |#k — — ERET |fET — — —
24|17 24| B=E — — ERH & — — —
241 719 BE EIIEE — ERE | KKF — — —
24| 7| 2 R=E  |# — — = RHET | FAK — — =
241719 BE |k — — ERHET AR — — —
24|17 23| B=E — — RIRET — — —
241 7 (24| BE [k — — ERE AR H — — —
2417 16| BE V=il — FEh 28T — — =
241 7|5 BE EIIEE — ERET |fET — — —
24|17 25| B=E — — ERHE |HH — — =
24| 7 17| B=E |#k — — ERHT |FHW — — —
241 715 EEET NFIA — ERHT |fET — — —
241 7 30| B=E [#k — — ERE X E — — —
24| 7 13| BE | BIIAE — ERE FEFH — — —
2417117 BZE  |#k EPIIE=DE — ERHE | EE — — —
24| 7 13| BE |tk — — E RHET | FAK 20.53 31.40 51.93
24| 7 24| BE |EANY — — = RET 1L — — —
241 7 17| BHE |EAANY — — E BT JIIA — — —
24| 7 |18| BFFE | 5oFLD — — ERE XEFE — — —
241 7 119 BE [LEX — — = RHET |F&LW — — —
241 7 11| BE [LEX — — ERHET |FEH — — —
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(BA{I:Ba/ke)

B E B B I3 ® I b mos % % B

£ R | B |h7d)—| & H | & & £ TRETA| K | £294134) £29L137) ¥29AEE
24| 6 | 1 BFHE  |YrIory | — — ERET |/ — — 29.47
24 6 | 1 wWxE (ko |— 4 ERET |JBAF 58.37 89.79 148.16
24| 6 | 1 WE  |5F — — BARM BA™ — — 28.80
24 6 | 1 O | {FEEE |& BEM [BRAM 31.46 54.60 86.06
24| 6 | 1 Fr x| — — ERE | S — — —
2416 | 1| Z0ih | — 4 ERE ERETH 145.08 17851 32359
2416 | 1 Fx |MaxE |— — ERET |BE — — —
246 | 1 FE |IIb — ERET BRHE — — —
24 6 | 1 1T — ERET |BE — — —
246 | 1 B I2AIKOH |— ST |RITHET — — —
2416 | 1 (TSP — KR | KiR — — —
2416 | 4 RE |t INE ERE |5 51.17 67.37 118.54
241 6| 4 R |FvRY |— ERET |BE — — —
24| 6| 4 HHE |49 r¥ |— fREM |R)IET — — —
24| 6| 4 R |LwAE|— ERET (L — — —
24| 6 | 4 hE | Hetr  |— INEIET |/ EIET — — =
24| 6| 4 R |FeRY |— ERET JIA — — —
24| 6| 4 BE | U ERET JIIA — — —
2416 | 4 R |LwAE|— ERET |FHFW — — —
24| 6| 4 FE |AIR¥ |— ERET |FZFIW — — —
2416 | 4 R B |— ERET |FHFW — — —
24| 6| 4 FHE MR — FET | RJIE — — —
24| 6 | 4 Fx (KB — ERE |fET — — —
24| 6 | 4 FEX | KIBOE |— ERET &I — — =
24| 6| 4 HEr MR — ERET &I — — —
24| 6| 4 FHE | HIADOE |— ERET [T — — —
24| 6 | 4 BE LI |— ERAT KA — — —
24 6 | 4 xS — ERET (L — — —
2416 | 4 BxE |1\ |— ERET L — — —
24| 6| 5 FE |XKIB — ERET &I — — =
24 6|5 BE |XBAE |— ERE | AEH 26.15 46.49 72.64
24| 6|5 RE |t N ERE |RAEHE 29.16 50.68 79.84
24| 6| 5 RE |LVBLC [TELVBLEL ERET |BEH 33.92 47.86 81.78
2416 |5 RE |15 N ERE |RHE 52.71 90.01 142.72
24 6|5 Fx e — ERET |BE — — —
246 |5 B Y=—LER |— ERET BRE — — —
24| 6| 5 BHE  |JUE—R|— EERT (S — — —
2416 | 5 Fx |49R¥ |— ERE /MR — — —
24| 6| 6 wE | hotr  |— FER | hEFIR 57.42 108.99 166.41
24 6 | 6 FHE  |zrvdzory | — ERET | L — — —
24| 6| 6 R |AIR¥ |— ERET |l — — —
24| 6| 6 R |FIR¥ |— ERET |HEH — — —
24| 6| 6 FER  |rrvTTory|— ERET BHE — — —
24| 6| 6 FE  |rroTzvry |HIE ERET BEE — — —
24| 6| 6 BE |15 N ERET BAF 22.6 20.84 4344
24| 6| 6 R |AIR¥ |— ERET BEE — — —
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24| 6| 6 BE |FoRy |— — ERET |RITHET — — —
24| 6| 6 Fx B — — ERET |BE — — —
24| 6| 6 FHE |Avr¥ |— — ERE JIA — — —
24| 6| 6 RE |15 — — ERE RHE 71.86 95.7 167.56
246 | 7 FE |AIR¥ |— — ERET LS — — —
246 | 7 BE LI |— — ERET (L — — =
24| 6| 7 FE |LER — — ERET L — — —
2416 | 7 RE |t — — ERET |l 32.26 46.67 78.93
24| 6| 7 FE |KIB — — ERET RHE — — —
24| 6| 7 RE |t N — ERE | AEH — 2504 40.78
2416 | 7 RE |t BmnE  |— ERE |HARHE — 32.34 49.43
246 | 7 R |AIR¥ |— — ERE BEHE — — —
246 | 7 BE |1\ |— — ERET LS — — —
24| 6| 8 Fx TRy |— — ERET R — — —
24| 6| 8 B=E | — — ERHET AR — — —
24| 6| 8 Fx | KBE — — ERET |BEE — — —
24| 6| 8 BE |FUrVE|— — ERET BHE — — —
24| 6| 8 BE | — — ERET (L 35.84 49.24 85.08
24 6 | 8 RE | N — ERET |FEXE — — —
24| 6| 8 RE |t — — ERET &I — — —
24| 6 | 8 R |FedY |— — ERET KW — — —
24| 6| 8 RE |t N — ERET & 31.33 424 73.73
24| 6| 8 R |FeRY |— — ERET /DR — — —
24| 6| 8 hE | Hhett  |— — t41E — — =
24| 6 | 8 RE |i& — — ERET L — 35.49 52.79
24| 6 | 8 HE |AIr¥ |— — ERET | L — — —
24| 6| 8 R |FeRY |— — ERET (L — — —
24| 6| 8 FE TRy |— — ERET |FxRW — — —
24| 6| 8 Fx B — — ERE ERERN — — —
24| 6| 8 FHE |Jova—|— — ERE ERETA — — —
24| 6| 8 BHE |AIr¥ |— — ERE ERETA — — —
24| 6| 8 FE TRy |— — ERE |RHE — — —
24| 6| 8 BE |AvR¥ |— — ERE RHE — — —
24| 6| 8 FE |Ib — — ERET (L — — —
24| 6| 8 FE |SF — — ERE |fET — — —
24| 6 | 11 BE | XKBAIZ |— — ERE |RHE — — —
2416 | 11| Z0ifh X BT | AKX (BLIEAETH) ERET JIA — — —
2416 | 11| ZOfth XK FRIERER | K (BB AETH) ERET |Z)IET — 38.19 56.72
24| 6 | 11 HHE  |JE—2r|— — ERHE |FHFW — — =
24| 6 | 11 RE |15 INE — ERE |FEXK — — —
24| 6 | 11 BE  |BUsEE |— — ERET |REFHE — — =
24| 6 | 11 Bz |HBEnE) — — ERE KREFE — — =
24| 6 | 11| Z0fth |k I EAY |BX(BREE) ERE |REH — — =
2416 | 11| Z0ih % iR |IREF(BRRZIER) ERET |FEHB — — —
24| 6 | 11 FE |15 — — ERHET |SRITHET — — =
24| 6 | 11 Fxr HR — — ERET |BEH — — —
24| 6 | 11 Fx HIOE |— — ERET |BE — — —
24| 6 | 11 BE |15 — — ERET [T 38.83 50.94 89.77
24| 6 | 11 Fx B — — ERET /DR — — —
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24| 6 | 11 BE  |YULE—R|— — EEE RS — — —
24| 6 | 11 RE |1 BmE |— ERET /MR — 21.42 33.88
24| 6 | 11 RBE |15 N — ERE /MR 23.79 22.37 46.16
24| 6 | 11 RE |1 — — ERHET |BE 20.71 31.79 52.50
24 6 | 11| Z0Hh X aERY | BRK (EWEZIER) ERET |RITHET — — —
24| 6 | 11 hE | Hot  |— — INEET — — —
24| 6 | 11 xR |ZFedY |— — ERET &I — — —
24| 6 | 11 FE |EFedY |— — ERET |FZFIW — — —
24| 6 | 11 RE | INE — ERET &I 28.93 34.92 63.85
24| 6 | 11 RE |t BmE |— ERET [T 39.83 4559 85.42
24| 6 | 11 FE |AIR¥ |— — ERE |5 — — —
24| 6 | 11 RE | — — ERET S — — —
24| 6 | 11 RE |t — — ERET [T — 31.94 46.87
24| 6 | 12 R |FvRY |— — ERET |FxRW — — —
24| 6 | 12 FE |AIR¥ |— — ERET |Z)IET — — —
246 12| BRE | N — ERET |FEXE — — —
2416 | 12| BRE |8 I BiET ERE] | SR4THET 24.16 28.92 53.08
24| 6 | 12 £ #BFL |— — ERET BEH 100.33 157.19 257.52
24| 6 | 12 FE |AIR¥ |— — ERET BHE — — —
24| 6 | 12 FE |TFedY |— — ERET |BEE — — —
24| 6 | 13 R |FeRY |— — ERET BHE — — —
24| 6 | 13 FE |AIr¥ |— — ERE BEHE — — —
24|16 |13 RE | N — ERET |f&T 2272 25.64 48.36
24| 6 | 13| 0 K= — — ERET /MR — — —
246 | 13| HE |AIR¥ |— — ERET S — — —
24| 6 | 13 FE  Ceddy|— — ERET S — — —
2416 | 13| BRE |i& — — ERET |FEXE — 2757 43.60
24| 6 | 13 FE |AIr¥ |— — ERET |FERE — — —
246 | 13| HE |AIr¥ |— — ERET [T — — —
24| 6 | 13 Bx | — — ERET |RHE 275 35.99 63.49
24| 6 | 14 Fx EFpdY |— — ERHET |#E — — —
24| 6 | 14 Bx | Hig — ERET [T — — 31.42
24 6 | 14 hxE 550 — — ERET [T — — —
24| 6 | 14 Bx | BmE |— ERE FEFE — 26.7 36.74
24| 6 | 14 BxE |J354 NZ—=N—h|— ERET A8H — — —
2416 | 14| BE | HAT |— — ERE REHE — — —
24| 6 | 14 RE |15 Mg — ERET [T — — 2941
24| 6 | 14 RE |15 — — ST |FEES 23.79 27.74 51.53
24| 6 | 14| ZOfh PVDE |— — ERET | KKF — — —
24| 6 | 14 Bx | — — ERET |fET — — —
24| 6 | 14 R |AIR¥ |— — ERET |BE — — —
24| 6 | 14| FOih |k — LK (BRI = R HET 36.65 27.55 64.20
24 6 | 14| ZODH XK IR |BXK(BRRIE) E RHET — — 36.98
24| 6 | 14 Bx | — — ERET |BEH 23.42 31.19 54.61
24| 6 | 14 RE |15 — — ERET JIA — — 30.06
24| 6 | 14 FE |KIB — — Z)IET | "EE — — —
24| 6 | 14 BE | XKBAIF |— — ERE | KKF — — =
2416 |15 BHE |[fZHtol |— — ERE |FEHE 116.06 163.13 279.19
24| 6 | 15 RE |15 — — ERET |FZFIW 2215 — 40.93
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24| 6 | 15| ZFDih |k — KK (RLIEH ETE) g — — —
24| 6 | 15| Zhih X — LXK (BLI&AEREA) g — — =
24| 6 |15 RBE |15 — — ERET |BEH — — 28.83
24| 6 | 15 WE  |5F — — ERET | KELWL — 39.48 58.28
24| 6 | 15| ZFOfh PVDE |— — ERE KREFHE — — —
24| 6 | 15 BE | — — ERET |BE — — —
24| 6 | 18 RE |15 — — (= R HT — — 27.02
24| 6 | 18 R |FvRY |— — ERET /MR — — —
24| 6 | 18 FE |AIR¥ |— — ERET /DR — — —
24| 6 | 18 RE |t — FL ERET [T 45.1 61.47 106.57
24| 6 | 18 FE |AIR¥ |— — ERE A& — — —
24| 6 | 18 FE |Ceddy|— — ERE A& — — —
2416 | 18| RE |i& — — ERET |l 2479 35.42 60.21
24| 6 | 18| Z0fth |k — LEK(REFE) t4E — — =
24| 6 | 18 FE  |HrIVrY|— — RE |XH — — —
24| 6 | 18 BE | BmE |— ERET | — 32.97 52.95
2416 | 18| BRE |1 I — ERE | S 21.16 33.24 54.40
24| 6 | 18 BHE |FeRY |— — ERET |BEE — — —
24| 6 | 18 FE |AIR¥ |— — ERET BHE — — —
24| 6 | 18 RE |t — BiET S YTHT — 32.18 50.58
24| 6 | 18 B  |JUE—R|— — RIR — — =
24| 6 | 18 FE |AIr¥ |— — ERET |BEHE — — —
24| 6 | 18 FE |Cednd|— — ERET BHE — — —
24| 6 | 18 FE |A9r¥ |— — ERET |BEE — — —
24| 6 | 18 R |FeRY |— — ERET RHE — — —
24| 6 | 18 Bx | BmnE |— ERET |FHIW — — —
24| 6 | 18| BHER |4vx¥ B — ERHET |FHFW — — —
24| 6 | 18 Bx | =HE  |— ERET &I — — —
24| 6 | 18 BE |AvR¥ |— — ERE RHE — — —
24| 6 | 19 Bx | — — ERE |RHE — 285 4567
24| 6 |19 FE Cednd|— — 21T | 2JIET — — —
24| 6 | 19 FE  Cedd|— — ERET |FERE — — —
24| 6 |19 BE |AvR¥ |— — ERE RHE — — —
24| 6 | 19 Bx | — — ERET |FERE — — —
24| 6 |19 FBE |AvR¥ |— — ERHET |#E — — —
24| 6 | 19 FHE |AIR¥ |— — ERET BRHE — — —
24| 6 |19 Fx | Max |- — ERET |BE — — —
24| 6 | 19| ZFDih |BRE — — ERET &I — — —
24| 6 | 20 Fx |EFedY |— — ERE |f&ET — — —
24| 6 | 20 FE  |Cedung dthnY |— ERET |BEHE — — —
24| 6 | 20 R |AIR¥ |— — ERET |BE — — —
24| 6 | 20 Fx |Cednd|— — ERET JIIA — — =
24| 6 | 20 R |FIR¥ |— — ERET JIA — — —
24| 6 | 20 RE |15 maE  |— ERET |SE — 23.09 42.18
24| 6 | 20 FHE |Ledny | BE — ERE S — — —
24| 6 | 20 wE | hett  |— — — — =
24| 6 | 20 FHE |Cedsnd|— — ERET |BE — — —
24| 6 | 20 BE |15 N — ERET |FxW 24.31 — 42.90
24| 6 | 20 R |AIR¥ |— — ERET /DR — — =




BREEABEYRNICEFAL TSRS EMEORIEE R —EFR (H24.6.1~H24.6.29)

(B{L:Baske)

B E B B I3 L) E3 ® H th mos % % B

24| 6 | 20 BHE |AIvr¥ |— — ERET | — — —
24| 6 | 20 RE |15 — — ERE RHE 34.27 46.07 80.34
24| 6 | 20 RBE |15 N — ERE AEH 50.03 59.41 109.44
24| 6 | 20 RE |1 BmE |— ERE AEH — 25.1 4447
24| 6 | 21 RE |t — — ERET [T 20.64 27.12 4776
24 | 6 | 21 Fx |47 — — ST |RIF — — 32.25
24| 6 | 21 FE |AIR¥ |— — ERET &I — — —
24| 6 | 21 RE | — — ERHET A — — —
24| 6 | 21 HE | RyvdF—=|— — ERET BRHE — — —
24| 6 | 21 Fx |ToFEH |— — ERET |BE — — —
24| 6 | 21 (ITERY b /) Pl - — ERET S 25.41 31.52 56.93
24| 6 | 21| ZFDih |k aTEhY Bk (EWEZIR) AT — — —
24| 6 | 21 FE |KIB — — ERE |FLL — — —
24| 6 | 21 FE |Cedd|— — ERET |FxRW — — =
24| 6 | 21 B=E | — — ERE | KKF 23.19 48.56 71.75
24| 6 | 21 RE |t — — ERET |BEE — — 30.88
24| 6 | 21 FE |AIR¥ |— — ERE AEH — — —
24 | 6 | 21 FE |Ceddy|— — ERE | AEH — — —
24| 6 | 22 FHE (Lesundgdthnry |— E RHET — — =
24| 6 | 22 FE |AIr¥ |— — ERET | — — —
24| 6 | 22 wE  |[f=Hol |— — ERE AEH 26.27 62.45 88.72
24| 6 | 22 RE |t — — ERET 8T 31.52 31.44 62.96
24| 6 | 22 FE |AIR¥ |— — ERET BHE — — —
241 6 | 22 RE |t N — ERE |AEHE 28.62 41 69.62
24| 6 | 25 FE |Cednd|— — ERET RHE — — —
24| 6 | 25 FHE  |ITALA |— — ERE |RHE — — —
24| 6 | 25 FBE |AvR¥ |— — ERE RHE — — —
24| 6 | 25 FE |FedY |— — ERE |RHE — — —
24| 6 | 25 BE |SARN)—|— — ERET |#E — — —
24| 6 | 25 Bx | =HE  |— ERET |FxRW — 21.67 30.26
24| 6 | 25 FHE |Ledundydthnry |— ERET (L — — —
24| 6 | 25 FE |[Leddy | BE — ERET |BEHE — — —
2416 | 25| FDifh XK — LEE(BK,REF) = R HET — — =
24| 6 | 25 FE |[Ledy | BE — ERET &I — — —
2416 | 25| BHxE |Ledld BE — ERHET |FHFW — — =
24| 6 | 25 FHE |AIR¥ |— — ERET (KW — — —
24| 6 | 25 WE |[tol — — ERET T 57.72 107.56 165.28
24| 6 | 25 RE |15 — — ERET |fET 23.24 46.36 69.6
24| 6 | 25 FHE |Ledny | BE — ERET [T — — —
24| 6 | 25 FHE |AIR¥ |— — ERET &I — — —
24| 6 | 25 R |AIR¥ |— — ERET /DR — — —
24| 6 | 25 BRE |1 N — ERET RHE — — —
24| 6 | 25 RE |1 — — ERET R — — —
24| 6 | 25 FBE |YULE—R|— — ERE [RE — — —
24| 6 | 25 R |AIR¥ |— — ERE |RHE — — —
24| 6 | 25 BHE |Ledd|— — ERET |5 — — —
24| 6 | 25 Fx |EFedY |— — ERE S — — —
24| 6 | 25 FHE |Avr¥ |— — ERET |5 — — —
24| 6 | 26 RE | N — ERET |FxW — — —




BREEABEYRNICEFAL TSRS EMEORIEE R —EFR (H24.6.1~H24.6.29)

(B{L:Baske)

B E B B I3 L) % ® H th mos % % B

24| 6 | 26 BHE |AIvr¥ |— — ERET |AA — — —
24| 6 | 26 FHE |[Lednd BB — ERE A& — — —
24| 6 | 26 FHE |Avr¥ |— — ERET [T — — —
24| 6 | 26 FE |Ledunddthny |— ERHET |BE — — —
24| 6 | 26 X |FedY |— — ERET RHE — — —
24| 6 | 26 Fx |47 — — ERET RE — — —
24|16 | 26| HE |FhE |— — ERE BH — — —
24| 6 | 26 BRE |SAN)—— — E RET | — — —
24|16 | 26| HE |FhE |— — ERET BRHE — — —
24| 6 | 26 BHE |FeRY |— — ZJ)IET [BEDFET — — —
24| 6 | 26| BE |# — — ERE | S — — —
24| 6 | 26 Fx |y |— — maE™ | [RETX — — —
24|16 | 26| HE |FhE |— — maET | RETX — — —
24| 6 | 26 R |LER — — MRS | RETX — — —
24| 6 | 26 R | KB — — mEET | RETX — — —
24| 6 | 26 FE |16 — — miEET | [RETX — — —
24| 6 | 27 B |FhE |— — ERE AEH — — —
24| 6 | 27 BHE |FhE |— — ERET JIIA — — —
24| 6 | 27 Fx |FpdY |— — ERET JIA — — —
24| 6 | 27 [ E P — ERE |RE — — -
24| 6 | 27 BE |1 — — ERET KW — 23.94 415
24| 6 | 27 BE |t BmE |— ERE IR — — —
2416 | 27| FDih XK — — ERET RHE — — —
24| 6 | 27 FE |FedY |— — ERE |RHE — — —
24| 6 | 27 FHR |FhE |— — ERE AEH — — —
24| 6 | 27 FE |[Ledy | BE — ERE | AEH — — —
24| 6 | 27 RE |i& Mt — ERET | S 25.22 29.43 54.65
24| 6 | 27 HE |FhE |— — ERET |BEHE — — —
24| 6 | 27 FE  |ITAIK |— — ERE RHE — — —
24| 6 | 27 HE |FhE |— — ERE |RHE — — —
24| 6 | 27 R |~bE |— — ERE RHE — — —
241 6 | 27 RE |15 — — ERHE |RE 28.12 38.64 66.76
24| 6 | 27 B |FhE |— — ERET R — — —
24| 6 | 27 HE |FhE |— — ERET |FERE — — —
24| 6 | 27 FHE |Ledndy | BE — ERET AR — — —
24| 6 | 27 BE  |2AlK |— — ERET (KW — — —
24| 6 | 27 BHE |LVATA |— — ERHE |FHFW — — —
24| 6 | 27 BHE |Ledd | BB — ERET | — — —
24| 6 | 27 RE |15 BmnE |— ERET /MR — 35.02 51.71
24| 6 | 27 FE  |Cedung dthnY |— ERET | A8H — — —
24| 6 | 27 BE |Ledd|A—o1—r|— ERET /DR — — —
24| 6 | 27 BHE |Ledd | BB — RIRET |FEIE) — — —
24| 6 | 27 HR |FhE |— — ERE BEHE — — —
24| 6 | 28 BHE |Ledd | BB — ERET (KW — — —
24| 6 | 28| Fih XK ERET |BE — — —
24| 6 | 28 BE |15 N — ERET KW — — —
24| 6 | 28 RE |15 BmE |— ERET |FZFIW 22.49 25.77 48.26
246 | 28| HE |FhE |— — ERET [T — — —
24| 6 | 28 BHR |FhE |— — ERET &I — — —




BREEABEYRNICEFAL TSRS EMEORIEE R —EFR (H24.6.1~H24.6.29)

(B{L:Baske)

B E B B I3 L) % ® H th mos % % B

246 | 28| HE |FhE |— — RIRET | XH — — —
24| 6 | 28 HR |FhE |— — ERET RKEH — — =
24| 6 | 28 X |FedY |— — ERET [T — — —
24| 6 | 28 Fx |47 — — ERET &I — — —
24|16 28| H/E |RF — — ERET &I — — —
24| 6 | 28| ZOfh |HTE |— — ERE A& — — —
24| 6 | 28 BHE |Ledd | BB — ERE A& — — —
24| 6 | 28 B |FhE |— — ERE A& — — —
24|16 | 28| HE |FhE |— — ERE |ANA — — —
24| 6 | 28 RE |t N — ERET /MR 34.23 59.72 93.95
24|16 | 28| HE |FhE |— — ERET /MR — — —
24| 6 | 28 R |FvRY |— — ST b3 H — — —
2416 | 28| BHE |WF — — 27T |43 M@ — — —
24| 6 | 28 R | RvdF—=|— — 2T R — — —
24| 6 | 28 FE |Cednd|— — ERET JIA — — —
24| 6 | 28 FE |VWATFA |— — ERET JIIA — — —
24| 6 | 28| O |EKEH |— — ERET L 28.23 36.48 64.71
24| 6 | 28 FE |[Leddy BB — ERET |FxRW — — —
2416 29| HE |FEhE |— — ERET |FHFW — — —
24| 6 | 29 FE |[Leddy BB — ERET JIIA — — —
24| 6 | 29 TR |owreemroer | — — ERE |fET — — —
24| 6 | 29 FE |[Leddy BB — ERE A& — — —
24| 6 | 29 B=E | — — ERE AEH 33.53 4583 79.36
24| 6 | 29 BHE |FhE |— — ERE | AEH — — —
24|16 | 29| BE | — — ERE |fET — — —
24| 6 | 29 HE |FhE |— — ERET &I — — —
24|16 |29 RE |i& — — ERET |BAF — — 20.18
24| 6 | 29 wxE |kl |— — ERET | KKF 38.92 61.74 100.66
24| 6 | 29 BRE |1 — — ERET |HRi5E — — =
24| 6 | 29 BE |5oEFLS |— — ERET |BEHE — — —
24| 6 | 29| FOf |EKEH |— — ERET |1l 117.92 227.75 34567
24| 6 | 29 HE |FhE |— — ERET |#kiEm — — —
24| 6 | 29 B |FhE |— — 2B |REDHT — — =
24| 6 | 29 Bx | — — ERET |l 21.21 33.66 54.87
2416 |29 BHE |0l |— — ERET S 62.56 97.02 159.58
24| 6 | 29 FE |TFedY |— — ERE | AEHE — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

A F A B B Yl 3 ® O b mos % % B’

£ |B B |hT3U— & W | & 1 7N BE HEA | K F | #294134] 294137 €9 LAE
24 5| 1 Fx |BE — — ERE /MR — 22.60 40.88
24 5| 1 wWxE (ko |— — ERE | KRKF 37.31 22.14 59.45
24 5| 1 WE |zt |— — BAR™ BA™M 129.25 197.34 326.59
24| 5 | 1 whE 550 — — ERET |FHFW — — —
24|15 1 TR |Foterca|— — ERET [T — — —
241 5| 1| 0 X aYERY [ RKK@AUIIRAY) ERET &I — — —
2415 1 lhE  |[fz60F |— — BERM BA™M 55.78 95.14 150.92
24 5| 1 TOM K aYERY |BR@AVIAY) ERE | KRKF — — —
2415 1 hE | Hetr  |— — ERET S — — —
24 5| 1 (ITE P 1A — — ERET BRHE — — —
24 5| 1 ITES ¥ A — — ERET | AEH — — —
24| 5 | 1 (ITEENS — — ERET |FHFW — — —
2415 1 hE | Hot  |— — ERET |l — — —
24 5| 1 T V1 A — — E RET (L — — —
24 5| 1 TSI N — — ERET | — — —
245 1 wE ol |— — ERET | — 34.79 49.75
24 5| 1 g (ol |— — ERE KEFE 50.06 58.06 108.12
24 5| 1 wWE |fzItoZ |— — SITHET |RITHET 106.33 120.12 226.45
24 5| 1 WE |k — TILF R ERET R — — =
24| 5 | 1 W |fo0F — — ERHET AR 33.45 4351 76.96
24 5| 1 hE  Het  |— H<HEF ERET (L — — —
24| 5 1 25 FESLBIZAI | — — ERET |mzEsL _ — —
24| 5 | 1 WE |5 — — ERET R — — —
245 1 wE  |[f=Hol |— — ERET KW 41.32 66.31 107.63
241 5| 1 TSI — — ERET |FxRW — — —
2415 1 R |&EE  |— — ERET /DR — — —
24 5| 1 wxE |kl |— — ERE | AEH 53.55 66.99 120.54
24 5| 1 WE |fo0F — — BE™ BAT 35.88 43.06 78.94
24 5| 1 WE  |fomF — — ERE B 38.78 42.89 81.67
24 5| 1 WE |fztoZ |— — ERE S 32.74 30.03 62.77
241 5| 1 1Ty N — — ERE B — — —
24 5| 1 WE |fztoZ |— — ERET W& 33.20 33.50 66.70
2415 1 (ITET ST=Y4 S B — ERE RS — 28.14 46.00
24 5| 1 WE  |5F — — ERE | KKF — — —
245 | 1 FHE |hF — — ERE |AEBH — — —
2415 1 Fx |Ib — — ERET |BE — — —
24 5| 1 WE | 5F — — ERET | A8H — — —
2415 | 1| ZDH K&éb:h  |— — ERE A& 38.55 52.24 90.79
245 | 1 [ITEENN — — ERET S — — =
24| 5 | 1 BE |E3hATS|— — ERET | S — — =
24 5| 1 wxE (ko |— — ERET |FEAE 27.87 54.01 81.88
2415 1 BE |TANS |— — ERET HEH — — —
245 | 1 HE |TARNT |— — FEM |FER — — —
2415 1 W |l |— — ERE A& 59.6 60.8 120.40
2415 | 1| 0 X mIERE | BXKERAETFH) FRM |RRT — — —
241 5| 1| Zoih X B | AKX (BZIEAETH) ERET |ER™ — — —
245 1 (TN — — ERET &I — — —
2415 1 W |t |— — ERET S 25.72 32.6 58.32




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5 | 1 wE | het  |— — ERE |RH 83.58 137.68 221.26
2415 1 hE | Hott  |— — ERET |RHE — — —
24 5| 1 WE  |f=60F — — ERET |/DR 41.49 73.88 115.37
24 5| 1 WE |2ZH  |— — ERET (L% 30.93 56.6 87.53
245 | 1 x| ktol |— — ERE KREFHE 37.91 43.02 80.93
24| 5 | 1 WE |fo03F — — ERE (W& 241.42 330.95 572.37
24 5| 1 E  |5F — — ERET |Hx45E — — —
24| 5| 2 hE | Hot  |— — FE | ZLET — — —
24 5| 2 (1T oT=Y4 S B — ERET |l 22.88 — 2376
24| 5| 2 (ITE-RY o /) gy — ERE BH 81.31 111.74 193.05
24| 5| 2 BHE |TANS |— — ERET L — — —
24| 5| 2 hE | Hett  |— — ALZFET |AULFRET — — —
24| 5| 2 x| ktol |— — ST |RITHET 85.17 148.5 233.67
24| 5| 2 WE  |5ZF — — ERET |BE — — —
24| 5| 2 WE  |560%F |— — ERET |BEHE 30.86 26.8 57.66
24| 5| 2 g (ol |— — ERET | 50.19 83.26 133.45
24 5| 2 FE |15 — — FET |{RIRHET — — —
24| 5| 2 g (ol |— — ERET & 20.63 21.2 4183
24| 5| 2 B Ksfs |— — E RET (L — — —
24| 5| 2 (1T oT=Y4 S B — ERET L 22.95 26.1 49.05
24| 5| 2 WE  |[z603F |— — ERET L 209.1 25398 463.08
24| 5| 2 BE AoUrdA|— — ERET R — — —
24| 5| 2 WE  |5F — — E RET (L — — —
24| 5| 2 (1T oT=Y4 S B — SITHT |RITHET — — =
24| 5| 2 wWE |fzItoZ |— — ERHET AR — 22.33 30.22
24| 5| 2 hE | Hhott  |— — ERE B — — —
24| 5| 2 (TN — — SITET | RATHET — — —
24| 5| 2 (ITET ST=Y4 S B — SITET |RITHET 24.38 2157 45.95
24| 5| 2 WE |fztoZ |— — ERET |FHFW 39.97 64.56 104.53
24| 5| 2 WE  |fomF — — ERET | A8H — 45.39 55.46
24| 5| 2 wxE  |[f=Hos |— — ERE BHE 30.52 49.48 80.00
24| 5| 2 (TN — — ERET XEFE — — =
24| 5| 2 WE |fo0F — — SITET | RATHET 72 120.26 192.26
24| 5| 2 TSI N — — ST |RITHET — — —
24| 5| 7 hE | Hot  |— — ERET (L — — —
24| 5| 7 iz 550 — — ERET BRHE — — —
24| 5| 7 W |l |— — ERE RAEH 51.13 68.22 119.35
24| 5| 7 wE | hetr  |— — ERET | A8H — — —
24| 5| 7 BHR |hFE — BEWEREED ERET /DR — — —
24| 5| 7 wE | hetr  |— — ERE |RHE 83.29 132.03 215.32
24| 5| 7 wmE  |tol |— 4 ORI | AR 40.36 82.19 122.55
24| 5| 7 (ITE-RY b /) Pl H<hEF ERET |SE — 27.1 42.39
24| 5| 7 W |=Hos |— — ERE FHE 70.73 97.67 168.40
24| 5| 7 wxE (ko |— — ERET |/DR — 29.12 47.28
245 | 7 hE | Hotr  |— — ERHE |FHFW — — —
24| 5| 7 x|kt |— — SALBT | KALBH — — —
24| 5| 7 WE |zt |— — ALFRET | FLFRAT 63.29 70.06 133.35
24| 5| 7 B (FE |— — ERET |BEH 46.32 48.26 94.58
24| 5| 7 Fx |Ib — — ERE AEH — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5| 7 WE |f=6mF — — SALBT |KALET 32.08 28.11 60.19
24| 5| 7 x| |— — SALET | KALE — — —
24| 5| 7 7% |7V |— — ERE L 23.19 — 23.19
24| 5| 7 BE  |E3hATS|— — ERET &I — — —
24| 5| 7 B |Max  |— — ERET &I — — —
24| 5| 7 1T — — ERET |JeBAF — — —
24| 5| 7 hE  (LEE — — ALFRET |FLFRET — — —
24| 5| 7 ITES ¥ A — — ERET |JeBAF — — =
24| 5| 7 x|kt |— HHEF ERE {EE™ — — =
24| 5| 7 i |vk — — ERET (L — — =
24| 5| 7 WE |5 — — ERET |BEH — — —
24| 5| 7 ITES ¥ A — — ERET |BEH — — —
24| 5| 7 TSI N — — ERE AEH — — —
24| 5| 7 WE | 5F — — ERET JIIA — — —
24| 5| 7 hzxE 550 — — ERET JIA — — —
24| 5| 7 BFx |FeRy |— — ERET JIIA — — —
24| 5| 7 wxE  |[f=Hol |— — ERET L 168.79 194.08 362.87
24| 5| 7 wE |t |— — BE® [BAM 61.97 88.85 150.82
24| 5| 7 WE |t |— — ERE KREFHE — — —
24| 5| 7 Fxr = NG 5 ERET KEFH — — —
24| 5| 7 FHE |H#20E |— — ERET BHE — — —
24| 5| 7 g (ol |— — ERET | A8H — — —
24| 5| 7 wWE  hdtr  |— — ERET |— 423.93 547.15 971.08
24| 5| 7 hxE 550 — — ERET JIIA — — =
24| 5| 7 wWE  hdtr  |— — ERE A& 31.24 28.46 59.70
24| 5| 7 BHE |EELE |— — ERET &I — — —
24| 5| 7 BE |[TANS |— — ERE |f&T — — —
24| 5 7 %54 MESE(KEES) | — — ERET |{ET — — —
245 | 7 (ITE-CRD Y b /) gy — ERET |FFLL 32.75 45 71.75
24| 5| 7 [ITE- N3 — — ERET RHE — — —
24| 5| 7 FE |15 — — ERE RHE — — —
24| 5| 7 WE |zt |— — ERET |FxRW 74.55 102.04 176.59
24| 5| 7 L=t |— A4 ERET |FHFW 112.05 134.75 246.80
24| 5 | 7 (ITET ST=Y4 S B — ERE ERERN — — —
24| 5| 7 WE |fztoZ |— — ERHET |FHFW 4587 58.77 104.64
24| 5| 7 W | 5F — — ERET /MR — — —
24| 5| 7 hE | Hotr  |— — ERE BEHE — — —
24| 5| 7 wxE (ko |— — ERET |l 36.56 325 69.06
24| 5| 7 WE |[tol — — ERET W& 167.76 237.57 405.33
24| 5| 7 (TS5 — — ERET (KW — — —
24| 5| 7 hE | Hotr  |— — ERE |SE 26.47 4946 75.93
24| 5| 7 (ITE-RY b /) Pl — ERET |SE 38.61 4467 83.28
24| 5| 7 B | 7RASHR |— — ERET BE — — =
24| 5| 7 (ITE-RY b /) Pl — ERET |JtBAF 51.34 59.73 111.07
24| 5| 7 R |A5T — — ERET XEFR — — =
24| 5| 7 BEr TVYOE — BET ERET XEFE — — —
24| 5| 7 RE |BFL |— — ERE KRB 91.13 119.16 210.29
24| 5| 7 Fxr HR — — ERET JIIA — — —
24| 5| 7 (ITE-RD il /) gy 4 ERE BH 4432 2217 66.49




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5| 7 (ITESY b /) Pl - A RRED | WA 38.16 4558 83.74
24| 5| 7 (ITE-RD i b /) gy H<HEF RRHED | RRMED — — —
24| 5| 7 Fxr HR — BN EED ERET JIIA — — —
24| 5| 7 ITES ¥ A — — ERET |RHE 32.9 56.47 89.37
24| 5| 7 (ITESY b /) Pl - — ERET RHE 4757 63.22 110.79
24| 5| 7 1T — — ERET | AE8H — — —
24| 5| 7 x| ktol |— — ERET |FEXRE — — —
24| 5| 7 WE |zt |— — ERET AR 30.49 47.45 77.94
24| 5| 7 x|kt |— — ERET RHE 25.35 34.8 60.15
24| 5| 7 (TN — — ERET |RHE — — —
24| 5| 7 (ITERY b /) Pl - — ERE ERETH 64.88 72.66 137.54
24| 5| 7 (ITE-RY il /) gy H<HEFE ERET |AA 35.26 47.67 82.93
24| 5| 7 WE |t |— — ERE | KRKF 44.82 66.86 111.68
24| 5| 7 WE |fom3F — — t4 10T |y BT — — —
24| 5| 7 WE  |5F — — ERE | KKF — — =
24| 5| 8 WE | 5F — — ERET | AE8H — — —
24| 5| 8 FE  |FB3hATS|— — ERE | KKF — — =
24| 5| 8 hE  Hhett  |— — ERE RS 32.07 36.47 68.54
24| 5| 8 (1T — — ERET &I — — —
24| 5| 8 g (ol |— — ERE ERERN 34.16 59.18 93.34
24| 5| 8 hE | Hotr |— REEIEE ERET ERETA — — —
24| 5 8 %54 MENEKEED) |— — ERBT |{ET — — —
24| 5| 8 Bx LV |— — ERET /DR — — —
24| 5| 8 WE  |5F — — ERET |FxRW — — —
24| 5| 8 wWE |fzItoZ |— — ST |RITHET 71.46 82.08 153.54
24| 5| 8 Fx | — — ERET KEFH — — —
24| 5| 8 HE |5 — — ERET |HRi5E — — =
241 5| 8| 0 K BERK KBEA ERE FTRH — — —
241 5| 8| o | K BERK KBEMA ERE |#RE — — —
24| 5| 8 (TN — — ERET XEFH — — —
24| 5| 8 WE  |fo0F — — ERHET |#E 45.04 76.03 121.07
24| 5| 8 WE |zt |— — ERET |FxRW 20.27 20.88 41.15
24| 5| 8 WE |fztoZ |— — SITET | RATHET 21.44 31.78 53.22
24| 5| 8 WE | 503F |— KRB BAET |BAT 105.98 130.29 236.27
24| 5| 8 HE |5 — — ERET &I — — —
24| 5| 8 iz 550 — — ERET S — — —
24| 5| 8 (1T — — ERET S — — —
24| 5| 8 wxE (ko |— — ERE A& — — =
24| 5| 8 [ITE- NN — — ERET XEFR — — —
24| 5| 8 wxE (ko |— — ERET KEFHE 64.34 86.87 151.21
24| 5| 8 hE | Hotr  |— — FET | ZELET 35.54 61.87 97.41
24| 5| 8 wE | hetr  |— — ERET &I — — —
24| 5| 8 W |t |— — ERET [T 23.42 33.95 57.37
24| 5| 8 (ITE-RY b /) Pl — ST |RITHET 91.6 114.82 206.42
24| 5| 8 WE |zt |— HHEFE ERE AEH 82.91 81.09 164.00
24| 5| 8 (ITERY b /) Pulgy - HHEF ALFRET |FLFRET 52.49 52.64 105.13
24| 5| 8 W |t |— — RE™ | R)IET 28.2 45.32 73.52
24 5|9 Fx |IIb — — ERET KW — — —
24| 5| 9 WE  |5F — — ERET |BE — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5| 9 wE | het  |— M BE™ BAT — — —
241 5|9 hE | Hott  |— — ERE BEHE — — —
24159 FHE |hF — BWEREED ERET |f&T — — =
24| 5|9 (1T — ERET | AEH — — —
24| 5| 9 WE |5 — — ERE AEH — — —
24| 5| 9 WE |zt |— — ERET |RHE 88.66 104.11 192.77
24159 (ITEENS — — ERET S — — —
24| 5] 9 1T — — ERET | AE8H — — —
24| 5| 9 WE |5 — — ERET L — — —
241 5| 9| O XK RIETRE | BXK(BRER) — BEER 62.16 71.23 133.39
24 5|9 BEr |[TRNT |— — ERET FRHE — — —
241 5| 9 ITES ¥ A — — ERET FRE — — —
24 5|9 FE |KIB — 18T ERE ERETA — — —
241 5| 9 BPEE |psnmcers) |— — ERE EREHN — — _
24 5|9 R |FeRY |— — ERE ERETA — — —
24 5|9 WE  |5F — — ERET |BEE — — —
24 5|9 FE |IIb — — ERET /DR — — —
24 5|9 [T NN — — ERET | — — —
24159 W | ko |— — ERET | — — —
24| 5] 9 BE TRy |— — ERET JIIA — — —
24 5|9 WE | Hot  |— — ERET RHE 922 113.23 205.43
24| 5| 9 WE  |2ZH  |— — — Iz 8 — — —
24 5|9 wE  |[f=Hol |— — ERET |AA 53.29 4756 100.85
24| 5| 9 g (ol |— — ERET W& 121 160.07 281.07
24 5|9 wE  |[f=Hol |— — ERE RSB 104.73 12.18 116.91
24| 5|10 wxE kol |— — ERE KEFE — 27.88 37.64
24| 5|10 W | ko |— — ERET /MR 27.44 67.08 94.52
24| 5|10 Wz 550 — — ERE |RHE — — —
24| 5|10 BE |AvR¥ |— — SZirET L3 H — — —
24| 5|10 Fx | — — ERE |RHE — — —
24| 5|10 wxE  |[f=Hos |— — ERE RHE 97.27 143.41 240.6
24| 5|10 [ITE- N3 — — ERE |RHE — — —
24| 5|10 (1T oT=Y4 S B — ERE | S 20.59 16.76 37.35
24| 5|10 wE |t |— — ERET (L 28.45 4277 71.22
24| 5|10 x| AF — — fRE™ |RJIET — — —
24| 5|10 (ITE-RY b /) Py H<hEF ST |RITHET 27.12 58.92 86.04
24| 5|10 [ITE- -3 — — ERET HEH — — —
24| 5|10 FE |ITALA |— — ERET BHE — — —
24| 5|10 WE |zt |— — ERE | KKF 50.6 53.83 104.43
24| 5|10 [ITE- N5 — — ERET |FEXRE — — —
24| 5|10 ITE S ¥ 1A — — ERET R — — =
24| 5|10 wE | hetr  |— — BE™ BET 85.04 94.77 179.81
24| 5|10 W (| 5EFDES|— — BAR™ BA™M 41.08 30.76 71.84
24| 5|10 BE |[TANT |— — ERET |l — — —
24| 5|10 W |=Hos |— — ERE BH 22.21 48.17 70.38
24| 5| 10| Z0ih |k aTERY | BR EREZIER) ERE ERETA — — —
24| 5|10 (ITE- -3 — — ERET RHE — — —
24| 5|10 BE |FoRvy |— — ERET RHE — — —
24| 5|10 R |LER — — ERET |RHE — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B F A B I3 Y| E3 ® I b mos % % B

24| 5|10 FE |HD — 180 ERET )R — — —
24| 5|10 (ITE- -3 — — ERET HEE — — —
24| 5|10 hxE 550 — — ERET BHE — — —
24| 5|10 WE |zt |— — ERET |FxW 26.65 28.96 55.61
24 5 |10 W | ko |— 4 ALFRET | FLARET — — —
24| 5|10 (ITE-RY il /) gy H<HEF FLFRHET | FLFRET — 33.77 4587
24| 5|10 WE |t |— — ERE KREFHE — 39.28 59.15
24 | 5 | 11 WE | 5F — — ERET AR — — —
24| 5 | 11 WE |5 — — ERET JIA — — —
24| 5 | 11 WE  |5ZF — — ERET | AE8H — — —
24| 5 | 11 Fx MR — — ERET JIA — — —
24| 5 | 11 [ITESN- — — EERET |KBAF 23.44 333 56.74
24| 5 | 11 whE 550 — — ERET |FHFW — — —
24| 5 | 11 Fx |IIb — — ERE BEHE — — —
24| 5 | 11 wE  |[f=Hol |— — ERE |SE 68.15 87.61 155.76
24| 5 | 11 Fx | KBE — — ERE ERERN — — —
24 | 5 | 11 WE  |5F — — ERE ERETHN — — —
24| 5 | 11 hE  Hhett  |— — FET | ZLUET — — —
24| 5 | 11 hE 550 — — ERET |FHFW — — —
24| 5 | 11 WE |zt |— — ALFRET |FLFRAT 40.84 52.46 93.30
24| 5 | 14 W |tol |— — ALFRET | FLFRET — — —
24| 5 | 14 wE |t |— — — BEEN — — —
24| 5 | 14 WE |t |— — E RET (L — — —
24| 5 | 14 FE |3S3hATS|— — E RET |l 24.4 38.37 62.77
24| 5 | 14 (TN — — E RET |l — — —
24| 5 | 14| BHE  |1suTessey|— — ERET |Ls — — —
24| 5| 14 WE |fztoZ |— — SiET |FAHE 75.33 123.62 198.95
24| 5 | 14| 0 |#BE — — ERET |mzEsw — 24.99 27.39
24| 5 |14 (TN — — SITET | RATHET — — =
24| 5| 14 (ITE ¥ A — — ERET |SEiTET — — —
24| 5| 14 hxE 550 — — ERET /DR — — —
24| 5| 14 Fx |IIb — — ERET (L — — —
24 5 | 14 WE | AF — — ERET |FHFW — — —
24| 5 | 14 WE |zt |— — ERET |FxRW 72.25 83 155.25
24| 5| 14 WE |fztoZ |— H<HEFE ERET |FEFE 29.94 33.96 63.90
24| 5 | 14 [ITEENN — — ERET |l — — =
24| 5 |14 BHR |EELE |— EOBMALED ERET |BE — — —
24| 5 | 14 FE |LER — — (= R HT — — —
24| 5| 14 [ITE- -3 — — ERET HEH — — —
24| 5| 14 (TP — — BE™ BET 79.57 85.35 164.92
24| 5| 14 hE | Hotr  |— — BAR™ BA™M 23.64 33.36 57.00
24| 5 | 14 [ITEENN — — ERET (KW — — =
24| 5 |14 (1T — — ERET | — — —
24| 5 | 14 WE | =503F |— — ERET |l — 32.71 51.39
24| 5| 14 FE |Ib — — ERET (L% — 41.77 43.74
24| 5| 14 WE |5 — — ERET |AEH — — —
24| 5 |14 (ITE-RD il /) gy — ERE RAEH 58.05 79.38 137.43
24|15 | 15| HE |(TRGHR|— — ERET |FBAF — — =
24| 5|15 ITE S ¥ A — — ERET St — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5|15 WE |zt |— — ERE | KRKF — — —
24| 5|15 W |tol |— — ALFRET | FLFRAT — — =
24| 5|15 BE TRy |— — ERET &I — — —
24| 5|15 WE  |5F — — ERE ERERN — — —
24| 5|15 BE |FoRvy |— — ERE | KRKF — — —
24| 5|15 wmE  |fztol |— 4 ERET | KKF 7057 117.17 187.74
24| 5| 15 WE |5 — — ERET ERETHN — — —
24| 5|15 BE  |YrIsry |— A ERET &I — — —
24| 5|15 x|kt |— HHEF RET | 2JIET — 28.49 46.74
24| 5|15 i |vk — — — =g — — —
24| 5|15 wE  hett  |— H<hEF — =i — — —
24| 5 |15 WE |zt — — ERET | AEH 4253 77.04 119.57
24| 5 | 15| FOfh %K aYERY [ RKK@AUIRAY) ERE ERETHN — 26.28 32.63
24| 5|15 Fx |2 = B R ERET |BE — — —
24| 5 |15 B3 PSR (ERES) |— — ERHET |FHA — — —
24| 5|15 FE |ITALA |— — ERET | KKF — — —
24| 5|16 BE |XKBAIF |— — ERE |5iF — — =
24| 5 | 16 (1T oT=Y4 S B — FET | RJIE 27.46 4757 75.03
24| 5|16 wE  |[f=Hol |— — ERET |f&T 111.03 137.75 248.78
24| 5| 16 Fx R — EDH{HALET ERET JIIA — — —
24| 5| 16| 0 % aYERY |BR@AVIAY) FET | RJIET — — —
24| 5| 16 (ITE-RY o b /) gy H<HEFE ERE | AEH 22.77 33.2 55.97
24| 5 | 16 hE  |Hotr  |— H<hEF FETW |{RIRET — — —
24| 5| 16 WE |fomF — — ERE |RHE — 31.2 50.35
24| 5 |16 E  [ILHAD|— — ERET RHE 141.77 221.24 363.01
24| 5| 16 (ITE-RY o b /) gy — w=EM |fBB™ 57.18 75.33 132.51
24| 5| 16| Zhifh X miEEA |EZIEAIETHA BAM BAT — — —
24| 5 | 16| ZFhih |k FRIETER |BZIRAEATEA w=EM |fBB™ — — —
24| 5|16 FE |15 — — ERET |#E — — —
24| 5| 16 FHE |Jova—|— — ERET |BEHE — — —
24| 5|16 R |FeRY |— — ERHET |#E — — —
24| 5| 16 (TN — — ERET |SER — — —
24| 5|17 W |toc |— HHEFE ERE XEHE 31.42 68.78 100.20
24| 5 | 17 wxE (ko |— 4 ERE BEHE 118.75 186.57 305.32
24| 5|17 wxE  |[f=Hos |— HHEFE ERE S — 30.89 4554
24| 5 | 17 FE |Ib — — ERET |SE — — —
24| 5 | 17 BFHE | FRASHR |— — ERET |BH — — —
24| 5 | 17 (ITE-RY b /) Pl H<hEF ST |RITHET — — =
24| 5 |17 W |=Hos |— 4 SITET | RHTHET — 20.34 32.26
24| 5 | 17 T3] N — — ERET |l — — —
24| 5 |17 [ITE- NN — — ERET (L% — — —
24| 5 | 17 WE | 5F — — ERET RHE — — —
24| 5 |17 BHR |EEFLE |— — ERE |RHE — — —
24| 5 | 17 (ITE-RY b /) Pl H<hEF ERET &I — — —
24| 5 | 17| Z0ifh X aYEH) [EFDIZFA(BARKR) ERET R — — =
24| 5|18 (ITE P A — — ERE | KRKF — 25.36 33.06
24| 5|18 W |t |— 4 ERET &I — — —
24| 5 |18 B |HrIury |— — ERET &I — — —
24| 5|18 WE  |5F — — ERET |FxW — — =




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 5|18 FE |Ib — — ERET KW — — —
24| 5|18 (ITE- -3 — — ERET |FHIW — — —
24| 5 |18 B |HrIury |— — FET | 2JIET — — —
24| 5 | 21 BHR |FvRY |— — ERET St — — —
24 | 5 | 21 whE 550 — — ERET BRHE — — —
24| 5 | 21 hE | Hot  |— — ERET |l — — —
24 | 5 | 21 BE  |vrIvry |— — ERET | — — —
24 | 5 | 21 WE  |5F — — FEm | 2)IET — — —
24 | 5 | 21 BE  |vrIvry |— — ERE (AEHE — — —
24 | 5 | 21 WE |zt |— 4 ERET AR 2584 38.76 64.60
24 | 5 | 21 Fx |[fBsv |— — ERET &I — — —
24| 5 | 21 ITES ¥ A — — ERET |BE — — —
24 | 5 | 21 BE |FoRvy |— — ERET &I — — —
24| 5 | 21 g |l |— H<HEF SUTET | RITHET 50.6 69.79 120.39
24 | 5 | 21 BE |XKBAIF |— — ERET |BEH — 24.16 44,06
24 | 5| 21 (ITE N3 — — ERET |BEE — — —
24 | 5 | 21 WE | Hot  |— — ERE |AEH 64.27 78.75 143.02
24| 5 | 21 BHE  (|TRATHR|— — ERE [JIA — — —
24 | 5 | 21 FE  |FB3hATS|— W TH ERET @ — — —
24 | 5| 21 FE | hF — W THE ERET (M — — —
24 | 5 | 21 T V1 A — — ERET (LG — — —
24 | 5| 21 (ITEEN- — — ERET (L — — —
24 | 5 | 21 FER  |rrvTTury | — — eI — — —
24| 5| 22 (ITE-RY o b /) gy H<HEFE ERE | AEH — 21.29 32.38
24| 5|22 WE  |hoty |— & ERET BHE — 32.08 43.26
24| 5|22 BHE  |HrIvrY|— — ERE |FEHE — — =
2415|122 BHE |Fyy |— — FETW |{RIRET — — —
24| 5| 22 xS — — ERET |BEHE — — —
24| 5|22 FE Cednd|— — SITET | RATHET — — =
24| 5| 22 HE | hFE — — ERET |tx4Em — — —
24| 5 22| ZOft |k adEA) (B @EVTY) ERHET |FHFW — — —
2415 | 22| O XK aYERY [ RKK@QOUINAY) ERET |FxRW 28.39 31.84 60.23
24| 5 | 22 (ITE-CRD Y b /) gy — ERET S 50.93 75.77 126.70
24| 5| 22 FE |AIr¥ |— — ERET & — — —
24| 5| 22 WE  |AF — — ERHET |#E 2051 — 34.81
24| 5 | 22 B |HrIUrY |— — ERET | KKF — — —
24| 5| 22| F0H |FNC Lol 4 ERET |JBAsF — 22.48 34.71
24| 5|23 WE | 5F — — ERET | A8H — — —
24| 5|23 WE  |5F — — ERET |AEH — — —
24| 5|23 FE |Hsv |— — ERET RHE — — —
24| 5|23 FxEx |KIB — — ERE |RHE — — —
24| 5|23 FE MR — — ERET RHE — — —
24| 5| 23| BE (B  |— — ERET |HxiEm — — =
24| 5|23 BHE |FoRY |— — ERET BRE — — —
24| 5|23 W (20 KYEGHE) (1§ET FEEBE |2 HT — — —
24| 5|23 WE | A5F — — ERE | KRKF — — —
24| 5| 24 B3 xFuTToRY | — — ERET |RHE — — =
24| 5| 24 BE |FeRY |— — ERET &I — — —
24| 5 | 24 BE  |HrIvry |— — ERET &I — — —




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(B{L:Baske)

B E B B ® H th |

24| 5| 24 FR |FvY ERET RHE — —
24| 5 | 24 R |AIR¥ ERET | KKF — —
24| 5 124 HE |Foy ERE | KKF — —
24| 5 | 24 FE |16 ERET | KKF — =
24| 5 | 24 FE |YURTA ERET BRHE — —
24| 5 | 24 Fx | RAYER ERE | AEH — —
24| 5 | 24 BE TRy ERE KREFHE — —
24| 5| 24 EO|AEF ERET AR — =
24| 5| 25| FOft %K Bk @/ 1Y) ERE | KRKF — —
24| 5|25 ITESF sT=Y4 ERET /DR 97.41 161.41
24| 5 |25 B 1D ERET L — —
24| 5|25 B |RrvTTory ERET REFHE — =
24| 5 | 28 HE |LwAE] ERET &I — —
24| 5 | 28 FHE |5Tavia ERET &I — —
24| 5 | 28 FE  |E3HhATS ERET &I — —
24| 5| 28 FE |AIr¥ SUTET | SRIFHET — —
24| 5 | 28 FEx |y SITHET |RITHET — —
24| 5 | 28 [T E SV ERET | KKF — =
24| 5| 28 hE 550 ERE | KKF — =
24| 5| 28 ITEF sT=Y4 BER™ |BAT — —
24| 5 | 28 wE  |f=Hoc ERET |RHE 208.73 365.41
24| 5 | 28 BE (LW T ERET |BEHE — —
24| 5 | 28 FE |AIYRT ERE | KKF — —
24| 5 | 28 WE |5 t4yE |[trE — —
24| 5 | 28 FE  |Hra sy ERE |RHE — —
24| 5 | 28 (ITEF sT=Y4) ERET |l — —
24| 5| 28| EE |YrvIury ERHET |FHFW — —
24| 5 29| FOfth kK Bk @/ 1Y) ERE ERER — —
24| 5 |29 WE | AF ERET S — —
24| 5|29 FE |Ib ERET & — —
24| 5|29 FEx |y ERE |f&T — —
24| 5|29 BFE  |E5hATS ERET (L — =
24| 5|29 FEx |y ERET /DR — —
24| 5 | 29 £ |V ERE | KKF 719 128.85
24| 5|29 FE  |HvIURY ERET (L — =
24| 5| 29| BE HKBAlF ERET BRHE — —
24| 5|29 W |zt ERET S 30.13 4337
24| 5|29 FE |#HSe ERET |l — =
24| 5|29 FE |y ERE |f&ET — —
24| 5 | 29 FE |LER ERET &I — —
24| 5|30 BE |[XKBAE ERE | KKF — =
24| 5|30 FE TRy — ERET BHE — —
24| 5|30 o X LXK (BLIRAEAREA) FE™ |FETR — —
24| 5 | 30 FE |(FUHUE ERET |l — —
24| 5 |30 FHEx MR ERET (L% — =
24| 5|30 BE oy ERET |FEXE — —
24| 5|30 FE |y ERET |BE — —
24| 5 | 31 Bz |1veD ERE KREFE — =
24| 5 | 31 R |AIR¥ ERET RKEFH — =




BREEABEYRNICEFAL TV SIS EMEORIEE R —ER (H24.5.1~H24.5.31)

(Bifiz:Ba/ke)
E H B I3 Y| E3 ® I b mos % % B
5| 31 BE |FeRY |— — ERE XEFE — — —
5131 Zhfth |Svbk — — ERET (LG — 36.99 56.23
5 | 31 B |Y=—LER|— — ERET | — — —
5 | 31 BE  |gr sy |— — ERET | — — —
5 | 31 BE |FoRvy |— — ERET |RITHET — — —
5 | 31 Fx |Ex¥ |- — ERE |AEH — — —
5 | 31 FE |AIR¥ |— — ERET JIA — — —
5 | 31 Fx |y |— — ERET JIA — — —
5 | 31 B |HvIury |— — ERET )R — — —
5 | 31 BE |LWsT — — ERET | AE8H — — —
5 | 31 WE | AF — — ERE |AEH — — —

10




BRHEAREYRNICEFEFNRLTLSIHRAEMEDAEHER — KR (H24.42~H24.4.27)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

£ A B|p7dV— & B & 18 K & WA | X F | £204134) +294137) £29ARE
24| 4| 2| ZFOit X adEhY |BK (BLIEHETER) EIiTHET BEA — — —
24| 4| 2 B |pshaceEes) | — — ERHT /MR — — —
24| 4| 2 Bx |YAZ (AL Bl ST (dL¥ M| 28.59 30.84 59.43
24| 4| 2 BRI |pshucErs) |— — E RET | — — 21.84
24| 4| 2 Fx |Max  |— — ERET R — — —
24| 4] 2| FOft XK aYERY [ RKK@AUIIRAY) ERET BRHE — — —
24| 4| 2| ZFOih X Y=o x| 5K @V /INM1Y) ERET | KKF — — —
24| 4| 3| FOft XK ERARL (B @UNAY) ERE ERETHN — — —
24| 4| 3 WE  |SFDES|— - ERET AEH — — 32.75
24 4| 4| M XK aYERY BR(BRE) ERET RHE — — —
24| 4| 4| FOih X aEh KX (BREZIR) ERET |FEXE — — —
24| 4| 6 FEx |E = 54 ERE KREFHE 20.08 24.45 4453
24| 4| 6 Fx |2 BEWE (R ERET &I — — —
241 4| 6| TOM XK aYERY |BR@AVIAY) ERE GAEH — — —
24| 4| 6 Fx |IFIi—n|— — ERE | S — — —
24| 4| 6 FE TRy |— — ERET |FxRW — — —
24| 4| 6 B3 PSR (ERES) |— — ERHET | — — —
24| 4| 6 BE | BiET  |FEaL ERET BEH 27.70 — 46.20
241 4| 6| Ot XK oL EAY |BX(BREER) FITET | B — — —
24| 41 6| FOM K VEDEN (BXK (A1) ERE ERERN — — —
24| 4] 9 BRI |psnmcesrs) | — — ERET |8 — - _
24| 4] 9 WE (| 5ZF2DES|— — BAEM™ 38.40 72.17 110.57
24 4] 9 BE |\ BEE |— — ERET | S — — —
24| 4| 9 WE  (5E=DES|— — ERET |l 162.57 216.90 379.47
24| 4| 9 FHE |Ledny | BE Rl ERET &I — — —
24| 4| 9 R | KB — RAL ERET [T — — —
24 4| 9 FHE |Jova)—|— — ERET (L — — —
24| 4| 9 HE | hF — — ERET &I — — —
24| 4|9 FE | hF — — ERE |fET — — —
24 | 4 9 %54 MASAE(KEES) | — — ERET |{ET — — —
24| 4| 9 Fx | HEoF |— — ERET /MR — — —
24 4| 9 FE  Cedd|— BoE BERR | FEHH — — —
24| 4| 9 FxE |KIB — BoF ERE |REH — — —
24| 4 |10 BFE  |axcEes |— — ERET |l — — —
24| 4 |10 Fx | Max |- — ERET | — — —
24| 4 |10 FBE |ILvr |— — SIHET |db4H — — —
24| 4 |10 R |k — — BT |dL3H — — —
24| 4 |10 Fxr |2 Eg 5 ERET /DR — — —
24| 4| 10| 0 XK avERY |BREAVIINAY) ERE ERETR — — —
24 | 4 | 11 HHE | hFE — BLNRSELET ERET KB — — —
24 | 4 | 11 [543 PANE(KERES) |— — ERET T — — _
24| 4 | 11 %4 PANE(KERES) |— — ERBT |{ET — — —
24 | 4 | 11 TOM K aVEA [ RBK @A) ERET | KKF — 24.69 38.94
24 | 4 | 11 HE | hF — ERET (LG — — —
24| 4 |12 BE  |EB3hATS|— — ERET )R — — —
24| 4|12 Fxr KEfb |— — ERET JIIA — — —




BRHEAREYRNICEFEFNRLTLSIHRAEMEDAEHER — KR (H24.42~H24.4.27)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 4 |12 BPE  |psnscears) | — — ERBT EHA — — —
24| 4 | 12| BHE |F3hAE5|— — ERE RHE — 31.39 41.98
24| 4 |12 BE TRy |— — ERET RHE — — —
24| 4 | 12| BHE |F3hAE5|— — E BB /MR 44,65 76.78 121.43
24| 4 |12 TSI N — — ERET S — — —
24| 4 | 12| ZFOih X avERY |BREAVINAY) ERET |RHE — — —
24| 4 | 13 5% MEAEKEES) |— — ERET |fET — — _
24| 4 | 13 %54 MENGKEED) |— — ERBT |{ET — — —
24| 4 13| FOfh %K aYER [ RKK@AUIAY) ERET RHE — — —
24| 4 13 R KEb |— — ERET [R5 — — —
24| 4 |13 LE  [5F0DES|— — ERET |HR45E 58.18 88.32 146.50
24| 4 13| HE |B3hAT5|— — ERE | S — — —
24| 4 | 13 5% MEAEKEES) |— — ERET =3 — — _
24| 4 |13 FE |Jova—|— — ERET RE — — —
24| 4 |13 B Ksfb |— — ERET RHE — — —
24| 4 | 13| ZFOih |k MECFES |BX(BARRZE) — — — — =
24| 4 | 16 B Ksfb |— — ERE AEH — — —
24| 4 | 16 whE |Houy — — E RHET |mzEsy — 26.05 26.05
241 4 16| BHxE =2 xa(@5t0sd) | BT IR ERET | — — —
24| 4 |16 Fxr = xE(5e0sd) | BZ IR ERE |RHE 38.85 100.92 139.77
24| 4 | 16 hxE [Fnc LL=1t |— ERET &3 278.11 428.11 706.22
24| 4 | 16| ZFDih |k avehl ST |— — — =
24| 4 | 16 B Ksfs |— — ERE XEHE — — —
24| 4 | 16| DM XK aYEAY (BXR@VNAY) ERE REFE — — —
24| 4 | 16 B |F3ShatS|— — ERE [IFEH — — =
24| 4 | 16 FOih  |psnmcars) | — — ERE |(AFH — — _
24| 4 | 16 hE  |Foc L=+ |&E ERET /MR 1150.4 1589.3|  2739.70
24| 4| 16 mxE  |Fnc LMzl (& ALFRET |FLFRET 398.37 548.56 946.93
24| 4 | 16 R |V |— — ERET R — — 32.69
24| 4 | 16 FHE KEb |— — ZiTET [ FHEE — — —
24| 4 | 16 hE [Fnc L=l (& ST |[FAE 1834.75 2456.17 4290.92
24| 4 | 16| BHE |RE — FWnErED ERE BEH — — —
24| 4 | 16 BFIE | paheceEss) | — — ERE |IFXEH — — —
24 | 4 | 17 %54 Z 55001241 | — — ERHET L — — —
24| 4 | 17 hE [Fnc L=l |& ERHE |FHFW 89.63 104.79 194.42
24| 4 |17 Fx |2 HTE  |FIR ERET (KW — — —
24| 4 |17 FHR KEb |— — ERET [T — — —
24| 4 |17 BHE |Ledd | BB BHY ERET |SE — — —
24| 4 17| BHE |FE — — ERE |SE — — —
24| 4 |18 FE |LER — — Z)IET |FETH — — —
24| 4 | 18| ZFDih XK adeRY) BR@EVAAY) BT |dL3H — — —
24| 4 | 18| FDih |k oA [ RKRK@URAY) SIHET |db4H — 2517 38.28
24| 4 |18 Fx |2 = BR ERHE |FHFW — — 27.99
24| 4 |18 Fx |E X= 5 ERET RHE — — 34.62
24| 4 |18 Fx |=3 — — ERET RHE — — —
24| 4 |18 Fxr |2 BHE  |FE ERE |RH — — —
24| 4 |18 Fx |IRE — — ERE B 76.85 110.02 186.87
24| 4 |18 BE |FoRvy |— — ERE | KRKF — — —
24| 4 |19 FHE |Jova—|— — ERET &I — — =




BRHEAREYRNICEFEFNRLTLSIHRAEMEDAEHER — KR (H24.42~H24.4.27)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 4 |19 BE (K& |— — = R HT — — —
24| 4 | 19| BHE |RF — FLnrED SITHET | SRITHT — — —
24| 4 |19 BE  |EB3hATS|— — ERET RHE — — —
24| 4 | 19| BE |=¥ — FLbnrED ERE |EH — — —
24| 4 |19 BE  (FB3hATS |— — ERE |EH — — —
241 4 | 19| O X aYERY (KK @QUNAY) ERET |BE — — 21.11
24| 4 |19 FE |IIb — — ERET |FEXRE — — —
24| 4 | 19| ZFOih |k iEAREA | 3K (RZIR A ETRH) ERE ERETH — — —
24| 4 19| HE |F3HhATS|— — ERET IR — — —
24| 4 |19 BE  |E5hATS |— — RIFET |FETH — — —
24| 4 | 20 B |HolE — — ERET (&KW — — —
24| 4|20 WE |fomF — — ERHE /MR — — 25.87
24| 4 | 20 W  |ZZsa |— — ERE |AEH 158.42 221.06 379.48
24| 4 | 20| FDih |k aveHhy |— ERET | KKF 51.82 59.78 111.60
24| 4 | 20 FE |[Jova)—|— — ERET RHE — — —
24| 4|20 ¥FE |Jova)—|— — ERE |RHE — — —
24| 4 | 20 wxE  |9F — — ERHET AR — — —
24| 4|20 Fx |Holxr — — ERET R — — —
24| 4|20 FE |5 — — ERHET AR — — —
24| 4 | 20 %54 MENEKEED) |— — ERET AR — — —
24| 4|20 WE  |5F — — ERHET AR — — —
24| 4 |20 Fxr (AT — — ERET R — — —
241 4120 HxE (KEFEH |— — ERET &I — — —
24| 4|20 BE  |E5hATS|— — ERET &I — — —
24| 4 |23 hE | Hot  |— — ERET |#E — — —
24| 4| 23 FHx |Jova)—|— — ERET |FxRW — — —
24| 4| 23 WE |2ZH |— — ERE | KKF 69.9 111.04 180.94
24| 4 | 23 mxE  |Fnc LMzl |— BA™ #5244 379.28 513.99 893.27
24| 4 23| BHE |B3HATS|— — ERE |fET — — —
24 | 4 | 23 BPIE |pshucEss) | — — ERET | — — —
24| 4 |23 (1T — — ERE |f&T — — —
24| 4| 23 1Ty N — — ERET |FERE — — —
24| 4 |23 FE |MBLE |— — ERET R — — —
24| 4| 23 TSI N — — ERET /MR — — —
24| 4|23 Fx B BEWE |FIIE ERHE |FHFW — 23.51 37.75
24| 4 | 23 HE |TARANT |— — ERET KB — — —
24| 4| 23| BHE |RF — BEWEREED ERE |REH — — —
24| 4 | 23 (ITE-RY b /) Pl — — T — 32.95 45.00
24| 4 |23 hE | Hotr  |— — ERHE |FHFW — — =
24| 4 | 23 FE |MBLE |— — ERET (KW — — —
24| 4 | 23| FOih XK BT | AKX (BLIEAETH) ERE ERETN — — —
24| 4 | 23 BE  |E3hATS|— — ERET JIA — — —
24| 4| 23 (ITE- -3 — — ERET St — — —
24| 4 | 23 [ITEENN — — ERET |JtBAF — — —
24| 4| 23| FOih |k =D v UI=F J=DIAv 69 ERET | KKF 23.97 32.01 55.98
24| 4| 23| BHE =¥ — FEWBREED ERET |f&T — — —
24| 4|23 FE |15 — — ERET &I — — —
24| 4| 24 wE  |Foc L=l (& ERET |FxW 391.24 502.51 893.75
24| 4 | 24 Fx |16 — — ERET St — — —




BRHEAREYRNICEFEFNRLTLSIHRAEMEDAEHER — KR (H24.42~H24.4.27)

(B{L:Baske)

B E B B I3 Y| E3 ® I b mos % % B

24| 4 | 24 BE (K& |— — ERET BHE — — —
24| 4 | 24 R |B% — — ERET | L — — —
24| 4 | 24 FHE (K& |— — ERET BHE — — —
24| 4 | 24 hE | Hott  |— — STHT |SRITHT — — —
24 | 4 | 24 (ITE- R 17> bl LW+ |&£ ERE |5 519.63 741,67 1261.30
24| 4| 24 hE (g0l LWM=IT |& ERET |BE 22.17 32.27 54 .44
24| 4 | 24 (ITE- - 17> bl LW+ |&£ ERET RHE 1230.44 1806.96|  3037.40
24| 4 | 24 BE  |E5hATS |— — ERET (L — — —
24 | 4 | 24 B |pshucErs) | — — E RET | L — — —_
24| 4 | 24 WE  |5ZF — — ERE REFE — — —
24 | 4 | 24 FE |IIb — — ERET L — — —
24| 4 | 24 hE (g0l LMzl |— ERET (L 2559.93 3896.21 6456.14
24 | 4 | 24 Bxr Ksfs |— — ERET /DR — — —
24| 4 | 24 Fx |IIb — — ERET /MR — — —
24| 4 | 24 IWE  |fz603F |— — ERET | KKF 57.04 87.21 144.25
24 | 4 | 25 %54 MENEKEED) |— — ERE |IFEFH — — —
24| 4 | 25 IWE  |fz603F |— — ERE |RAHE 20.12 35.86 55.98
24| 4|25 (1T oT=Y4 S B — ERE RS 111.87 180.26 292.13
24| 4 | 25 R % — — ERET BHE — — —
24| 4| 25 (ITEEN- — — ERET & — — —
24| 4125 BHE |TRIT |— — ERE | S — — —
24| 4| 25 hE  Het  |— — ALFRET |FLFRAT — 28.24 38.64
24| 4| 25 FE |6 — — ERHET AR — — —
24| 4| 25 Fx |HEIOEF — — ERET R — — —
24| 4 | 25 Fx €Y — — ERET R — 21.61 3459
24| 4| 25 WE  |2ZH  |— — BaM (BAM 4788 706.57 1185.37
24| 4 | 25 1Ty — — MEAER |EoErT — — 25.75
24| 4| 25 HE |V |— — MEBE [toTEE 51.67 718 123.47
24| 4 | 25 hE  |Foc W=t | & ERET |FHFW 582.34 875.34|  1457.68
24| 4| 25 FHE KEb |— — FEm |{RIRET — — —
24| 4| 25 hE [Fnc L=l (& ERET &I 334.77 517.07 851.84
24| 4| 26 (ITET ST=Y4 S B — ERET |FERE — — —
24| 4| 26 hE | Hot  |— — ERET R 52.58 105.93 158.51
24| 4 | 26| FDih |k N B:K (RZ18 A ET ) ERE | KKF — — —
24| 4 | 26 %54 PANE(KERES) |— — E BB KA — — —
24| 4| 26 wxE (ko |— — ERET |l 56.92 87.51 144.43
24| 4 | 26 %54 PANE(KERES) |— — ERHET |BEH — — —
24| 4| 26 E  |f60%F |— — ERET | A8H 41.16 65.06 106.22
24| 4| 26 WE  |5F — — ERET (L% — — —
24 | 4 | 26 [ITEENN — — ERET |FEXRE — — —
24| 4 | 26 FE |Ib — — ERET /MR — — —
24 | 4 | 26 hE | Hhott |— — ERET /DR — — —
24| 4 | 26 Fx |B¥ — — ERET JIA — — —
24| 4| 26 Fx |E¥ — — ERET JIIA — — —
24| 4 | 26 BHR |TRNT |— — ERET |FxW — — —
24| 4| 27 WE | A5F — — ERE | KRKF — — —
24| 4 | 27 wWE  |Foc LU=+ & ERE RS 258.27 395.59 653.86
24| 4| 27 FEX | |— — BE™ BAT 31.35 46.13 77.48
24| 4| 27 hE | Hott  |— — ERET S — — —




BRHEAREYRNICEFEFNRLTLSIHRAEMEDAEHER — KR (H24.42~H24.4.27)
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B E B B ® I b gt wm B

24 | 4 | 27 WE | f=50F ERE | KRKF — — 23.88
24| 4| 27 (1T ERET S — — —
24| 4| 27 (TS5 ST |FEE — — =
24| 4| 27 FE |16 STHT |FENE — — =
24 | 4 | 27 wE |zt ERET |FEXE — 26.06 4378
24| 4| 27 (T 17> Tl ERE FHE 76.36 98.2 174.56
24 | 4 | 27 5% MEN(KEES) ERET [ KKF — — _
24| 4 | 27 Fx KB ERET JIA — — —
24| 4| 27 TTE-N-17) bl ERET &I 194.71 269.41 464.12
24| 4| 27 (T 17> Tl EERET |HBAE 329.07 415.92 744.99
24 | 4 | 27 i |CCH ERET RHE 150.26 209.68 359.94
24| 4 | 27 WE |f=603F ERET |BE 305 51.76 82.26
24 | 4 | 27 B (KEfb ERET BRHE — — —
24| 4| 27 Fxr F= ERET | KKF — — —
24| 4 127| o E=E ERE | KKF — — 40.01
24| 4 | 27 FE  |E3hATS ERET |JBAF — — —
24| 4 | 27 FHx MR ERET &I — — —
24| 4 | 27 ITE- Y oT>Y4) ERET /DR — — —
24| 4 | 27 WE =503 RET | 2JIET 83.84 133.85 217.69
24| 4| 27 mE  |Fnc ERE AHH 1311.05 1728.6 3039.65
24| 4 | 27 (ITE- 17> bl ERE AEH 746.98 12348 1981.78
24| 4 | 27 hxE 550 ERET REFHE — — =
24| 4| 27 Fx |IIb ERE KREFHE — — —
24| 4 | 27 ITEF sT=Y4 ERET S5 — — =
24| 4| 27| ZODith (BRI ERET | — — —




